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UGC NET PAPER 2 NOVEMBER 21, 2021 SHIFT 1 PSYCOLOGY QUESTION PAPER

Topic:- Psychology_A
1) Which of the following nerves carry the sensory messages from skin, eyes and ears to Central Nervous System?

(1) Efferent
(2) Afferent
(3) Cranial

(4) Peripheral
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1. 1
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4, 4
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2) A Woman who learns that she has been deprived of promotion to a higher job in a company, may storm into her boss’s
office and have temper tentrum. It exemplifies :

(1) Sublimation

(2) Rationalization

(3) Reaction Formation
(4) Regression
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4, 4

[Option ID = 14738]

3) Which of the following is correct for the Pheromones?

(1) Biochemicals found within the brain which effect a person’s behaviour

(2) Biochemials which play an important role in transmitting information from neuron to neurcn

(3) Chemical messengers found in the Central Nervous System

(4) Chemical substances emitted by the person into the environment affecting the behaviour of others
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4, 4
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4) Which of the following describes the enduring facilitation of synaptic transmission that occurs following activation of
synapses by high intensity and high frequency stimulation of pre-synaptic neurons?

(1) Action potential

(2) Absolute refractory period
(3) Relative refractory period
(4) Long term potentiation
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5) If a person’s distinctive social category makes him or her vulnerable to stereotyping, it is referred to as:-

(1) Token integration
(2) Neosexism

(3) Ingratiation

(4) Token bias
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6) Which of the following statements is wrong?

(1) Body’s requirement of sleep varies with age
(2) Tertiary prevention is action taken to identify and treat an illness or injury early with an aim of stopping or reversing the
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problem
(3) Endorphins are released during exercise
(4) Excessive alcohol consumption leads to shrinking of frontal lobe of the brain.
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7) Which of the following is involved in Type ‘a’ processes of thinking as described by Wertheimer?

(1) Grouping and reorganization
(2) Assimilation and conditioning
(3) Blind trial and error

(4) Partially productive methods
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8) A person’s chronological Age is 20 years, and mental age is 16 years. What would be his 1Q?

(1) 120
(2) 100
(3) 80
(4) 110
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9) “When individuals believe that moral choices are not dependent on close ties to others and that rules must be enforced in the same

manner for everyone and each person should uphold them”.
The following statement is characteristic of which stage of Moral Development according to Kohlberg?
(1) Social contract orientation (2) Morality of Interpersonal Cooperation

(3) Social order maintaining orientation {4) Universal Ethical principle orientation
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4. 4

[Option ID = 14766]
10) Which of the following statements describe the term ‘Diffusion of Responsibility?

(1) People help others in order to reduce their emotional discomfort

(2) Greater the number of witnesses to an emergency, the less likely the victims are to receive help
(3) Helping others is a means of increasing one’s own status and reputation

(4) Prosocial acts are motivated solely by the desire to help someone in need
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[Option ID = 14769]
4. 4

[Option ID = 14770]

11) Cattell proposed his theory of fluid and crystallized intelligences on the basis of which of the following?

(1) First order factors of abilities
(2) Second order factors of abilities
(3) Third order factors of abilities
(4) Higher order factors of abilities
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12) Behavior is a direct result of behavioral intentions, this is explained by which of the following?

(1) Theory of reasoned action

(2) Theory of social Impact

(3) Equity theory

(4) Correspondent inference theory
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[Option ID = 14778]
13) As per Socrates’ Greek Philosophy, Which of the following is NOT true about eudaemonia?

(1) It means living well or flourishing

(2) It is more than merely attaining pleasure

(3) Being virtuous is almost identical to eudaemonia
(4) Being virtuous does not guarantee eudaemonia
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14) Multivariate Analysis of Variance (MANOVA) is best suited for making groupwise comparisons for several dependent

variables. Which of the following are these?

(1) Uncorrelated

(2) Moderately correlated

(3) Very highly correlated

(4) Either uncorrelated or have small negative correlations
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15) Who among the following proposed that different emotional stimuli induce different patterns of ANS activity and that

these different patterns produce different emotional experiences?

(1) James-Lange

(2) Cannon-Bard

(3) Singer-Schachter
(4) Plutchik
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16) The tendency to believe that a task will take less time than it really will, is known as:-
(1) Magical thinking
(2) Planning Fallacy

(3) Optimistic Bias
(4) Fundamental Attribution Error
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17) Which of the following are the correct differences between Parkinson’s disease and Huntington’s disease?

(A) Parkinson’s disease is a disorder of middle and old age while Huntington’s disease is a disorder of young.
(B) Parkinson’s disease is a movement disorder while Huntington’s disease is an emotional disorder.

(C) Unlike Parkinson’s disease, Huntington’s disease has a strong genetic base,

(D) Parkinson’s disease is not associated with severe dementia while Huntington’s disease is.

Choose the correct answer from the options given below:-
(1) (A) and (B) only

(2) (C) and (D) only

(3) (A) , (C) and (D) only

(4) (B}, (C) and (D) only
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[Question ID = 3833][Question Description = Q17_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14795]
2. 2

[Option ID = 14796]
e
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4, 4
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18) Memory that is thought to contain knowledge, facts, information, ideas that can be recalled or described in words,
pictures, or symbols is called:-

(1) Procedural memory
(2) Episodic memory
(3) Semantic memory
(4) Declarative memory
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3 3

[Option ID = 14801]
4. 4
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19) Young adults who return after leaving home for some period, to live in their middle aged parents home are known as:-

(1) Sandwich children
(2) Benevolent children
(3) Boomerang children
(4) Compliant children
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[Question ID = 3835][Question Description = Q19_Psychology_SHAAN_NOV21]
1.1

[Option ID = 14803]
2. 2
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3 3

[Option ID = 14805]
4. 4
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20) Integration of cognitive aspects of learning with the emotional aspects of experience and learning is known as:-

(1) Integrated approach to learning

(2) Confluent education

(3) Feeling class approach to education
(4) Motivational approach to learning
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1.1
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21) Which one of the following is usually not considered an example of the evaluative dimension of the Osgood Semantic
Differential?

{1} Clean -----=---=-- Dirty
(2) Slow ----------——- Fast
(3) Good ------------ Bad
(4) Kind --=======-== Cruel
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[Question ID = 3837][Question Description = Q21_Psychology_SHAAN_NOV21]
1. 1 [Option ID = 14811]
2. 2 [Option ID = 14812]
3. 3 [Option ID = 14813]
4. 4 [Option ID = 14814]

22) In which schools of Indian thought about yoga, ‘Prakrti’ remains isolated as a principle of ultimate reality into self and is
active only in the presence and service of ‘Purusa’?

(1) Integral yoga philosophy
(2) Vedanta

(3) Samkhya

(4) Sahaj yoga
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[Question ID = 3838][Question Description = Q22_Psychology_SHAAN_NOV21]
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[Option ID = 14815]
2. 2

[Option ID = 14816]
3 3

[Option ID = 14817]
4, 4

[Option ID = 14818)]
23) Pattern of familial transmission of intelligence from one generation to other is investigated in which of the following?

(1) Linkage analysis studies

(2) Adoption studies

(3) Association studies

(4) Segregation analysis Studies
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[Question ID = 3839][Question Description = Q23_Psychology SHAAN_NOV21]
1.1

[Option ID = 14819]
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[Option ID = 14820]
3.3
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4, 4

[Option ID = 14822]

24) Persons inclined to be verbally aggressive have:-

(1) low threshold for Behaviour Activation system

(2) low threshold for Flight-Fight system

(3) high threshold for Behaviour Inhibition system

(4) high threshold for Behaviour Activation system

wmfece sspmsal Hi vgfa gl 3 safwdi o g @ -



www.prepp.in . re p p

Your Personal Exams Guide

(1) =EER "iwav 93 & T arew dia
(2) WIge-%IEE 7 % fore steq Hivia

(3) SI9ER Yy 99 % fore 3= dimia
()  =EER AfEav a3 & fae 3= dum
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[Option ID = 14826]
25) The person’s failure to respond to the second stimulus while continuing to respond to the first stimulus is because of:-

(1) Event Related Potential (ERP)

(2) Psychological Refractory Period (PRP)
(3) Priming effect

(4) Excessive mental effort
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[Question ID = 3841][Question Description = Q25_Psychology SHAAN_NOV21]
1.

[Option ID = 14827]
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[Option ID = 14828]
3.3

[Option ID = 14829]
4. 4

[Option ID = 14830]

26) Some people are able to draw an object, match similar objects and describe the component parts but they fail to
recognize the objects that they had just seen or drawn. Which of the following describes this phenomena?

(1) Associative Agnosia
(2) Apperceptive Agnosia
(3) Visual Neglect

(4) Form Agnosia
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27) Discovery and understanding of our own abilities brings happiness but also brings fear of new responsibilities and duties.
It is called:-

(1) Fear of failure
(2) Jonah complex
(3) Motives conflict
(4) Fear of success

SO AT 1 N0 U h g 7 gl | 3t R, g w9 feerfe o ofvet % o
wahid ofi el 2138 e 2 -

(1)  3YEEAT H1 ¥ (2) SN et (G
(3) R gg (4) FHTA H W

[Question ID = 3843][Question Description = Q27_Psychology SHAAN_NOV21]
1. 1 [Optien ID = 14835]
2. 2 [Option ID = 14836]
3. 3 [Option ID = 14837]
4. 4 [Option ID = 14838]

28) Qualities such as calmness, tolerance, sociability, love of comfort and easy goingness depict, which of the following?

(1) Viscertonia

(2) Somatotonia
(3) Cerebrotonia
(4) Ectomorphia
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[Question ID = 3844][Question Description = Q28_Psychology SHAAN_NOV21]

1.1

[Option ID = 14839]
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[Option ID = 14840]
3.3

[Option ID = 14841]
4. 4

[Option ID = 14842]

29) In which phase of Enright’s model of psychological forgiveness, individual gains a cognitive understanding of the
offender in a new light that brings a positive change in view about the offender, self and the relationship?

(1) Uncovering phase
(2) Decision phase
(3) Work phase

(4) Deepening phase
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30) It is possible to accept the world as it is, without experiencing dissatisfaction, This is related to which of the following in

Buddhism?

(1) Right thought in eight-fold path

(2) Right mindfulness in eight-fold path
(3) Elimination of craving

(4) Existence of satisfaction/dissatisfaction
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[Question ID = 3846][Question Description = Q30_Psychology_SHAAN_NOV21]
1.1
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2. 2
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[Option ID = 14849]
4, 4

[Option ID = 14850]
31) Which one of the following is considered as a culture-fair test?

(1) Bhatia’s Battery of Intelligence

(2) Kaufman’s Intelligence Tests

(3) Wechsler’s Adult Intelligence scale
(4) Naglieri Nonverbal Ability Test
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[Question ID = 3847][Question Description = Q31_Psychology SHAAN_NOV21]
1. 1

[Option ID = 14851]
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3.3

[Option ID = 14853]
4. 4

[Option ID = 14854]
32) Projective measures, particularly inkblot tests, index which of the following?
(1) Novelty context of creativity
(2) Meaning context of creativity

(3) Domain specific creativity
(4) General creative potential
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4. 4

[Option ID = 14858]

33) When a target is defined by just one distinctive feature which is available on its feature map and it calls attention to
itself is known as:-

(1) Binding effect

(2) Pop-out effect

(3) Conjunction effect
(4) Orienting effect

& Uh A6 Sl Haa @ faftre @em @ ofenfia fee Smo S sue Afire qumefea T wfie @ ok
IZ YA H 19N T digar 8, I3 991 HE A[| 87

(1)  H&Eg@ 99" (2) YHEEHU (Pop-out) UE
(3) TASH Y9E (FHFEH) (4) i@ gae

[Question ID = 3849][Question Description = Q33_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 14859]
2. 2

[Option ID = 14860]
B

[Option ID = 14861]
4, 4

[Option ID = 14862]
34) Which one of the following is a nearest parametric alternative to Kruskal-Wallis test?

(1) Independent samples t test

(2) Paired samples t test

(3) One-way ANOVA for independent groups
(4) One-way ANOVA for repeated measures

frafofaa @ #i7 w1 pepa aifem o’ # afine gufifes faee 27

(1) e viEaseA e @ g sfeeem t odem
@) wadd ggE % fon uw-fasfta udmEn (@) TRt w1 v o

[Question ID = 3850][Question Description = Q34_Psychology SHAAN_NOV21]
1.1

[Option ID = 14863]
2. 2

[Option ID = 14864]
3.3

[Option ID = 14865]
4, 4

[Option ID = 14866]

35) Which theory determines poverty as a psychological problem of separated classes in society?

(1) Attribution theory

(2) Depletable self-control theory
(3) Distancing theory

(4) Multiple factor theory of poverty

foret forgia 1 Frdaan w61 srauren ¥ § g S Rl s wren % w9 4 fem e 20
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@ i fagm @) T % g g
[Question ID = 3851][Question Description = Q35_Psychology SHAAN_NOV21]
1.1
[Option ID = 14867]
2o
[Option ID = 14868]
3.3

[Option ID = 14869]
4, 4

[Option ID = 14870]
36) Visuospatial sketch pad is a component of which of the following?

(1) Long-term memory
(2) Short-term memory
(3) Working memory
(4) Sensory memory

gezreifaes faaae ffofaa 4 9 feaw e 3¢

Q)  dafafe afy @) e Wi
(3 riia wha (4 w8 Hha

[Question ID = 3852][Question Description = Q36_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 14871]
3.2

[Option ID = 14872]
3. 3

[Option ID = 14873]
4, 4
[Option ID = 14874]

37) Who of the following emphasised nomothetic approach in personality research?

(1) Allport

(2) Eysenk

(3) Jung

(4) Galton
fafafiga 1 | feaa safere armum o fraaradt sapm u se fen B9
(1) 3R (2) NS
@ @) e

[Question ID = 3853][Question Description = Q37_Psychology_SHAAN_NOV21]
< 0

[Option ID = 14875]
2. 2

[Option ID = 14876]
2

[Option ID = 14877]
4. 4

[Option ID = 14878)

38) After being robbed by a boy recently the shopkeeper says “beware of teenagers in our community”.

Which of the following explains his reactions?
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(1) Algorithm

(2) Availability Heuristic

(3) Representative Heuristic
(4) Gambler’s fallacy

U TgH G ¢ IH & oG SN Fgdl @ AR AYgE & feui @ wauw W 3wkt gfafean @

freferfea o 9 9= vog @ 27
(1)  TTRen (2) 39 Td: WY Yo
(3)  widfTees w@a: iy yore (4 JA ey yu (Faaw bed)

[Question ID = 3854][Question Description = Q38_Psychology_SHAAN_NOV21]
1.1

[Option ID = 14879]
7.2

[Option ID = 14880]
3.3

[Option ID = 14881]
4, 4

[Option ID = 14882]
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39) Communication of the understanding of the ‘internal frame of reference’ to client by a therapist pertains to which

type of counseling skills?

(1) Reflection

(2) Focusing

(3) Empathy

(4) Social influencer

s dl & g s f A whEm % de’ % 9y "H % uied w1 e U & gyt

S I g 2
(1) wfafsss Q) HelR
(3 &gyl (4) TR gsEH

[Question ID = 3855][Question Description = Q39_Psychology_SHAAN_NOV21]
T

[Option 1D = 14883]
2. 2

[Option ID = 14884]
3 3

[Option ID = 14885]
4. 4

[Option ID = 14886]
40) Vouyerstic and exhibitionistic disorders are included in which of the following in DSM-5?
(1) Sexual dysfunctions
(2) Paraphillic disorders

(3) Other conditions that focus on clinical attention
(4) Disruptive impulse control and conduct disorders

e ygf o arrerveeR I DSM-5 | Fraferfiea § @ forad wnfie 27
1)  FF-ussh gieen
@ il fawr

(3) v S T derfe e s 2 2
@  fagegsl gam fgau o s faen
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[Question ID = 3856][Question Description = Q40_Psychology_SHAAN_NOV21]
e

[Option ID = 14887]
Z.72

[Option ID = 14888]
3, 3

[Option ID = 14889]
4. 4

[Option ID = 14890]
41) Which of the following are true regarding Broca's area?

(A) It is located in the frontal lobe.

(B) Its function is speech production.

(C) Understanding and processing aspects of language are associated with it.
(D) It helps people using sign language.

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (A), (B), (C) and (D)

st % a3 & gey 4 frafofaa § 9 a9 -=R 9 372

(A ¥g v gg o feum g Rl

B) TEFH B G 2

(©) ¥R W &% u9H 3 wiraw % vwaE 9 vafua 2
@) ¥ @i % fom gda 9 &1 W FE § 92 2

Hre fow o faseai § ¥ w3 w1 = il
() e (A) I (B)
@ %= (C) 3 (D)
@ % (A), B) IR (©)
4 %I @A), B), (C) 3 (D)
[Question ID = 3857][Question Description = Q41_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14891]
2. 2

[Option ID = 14892)]
S

[Option ID = 14893]
4. 4

[Option ID = 14894)]

42) Which of the following is/are correctly associated with Plato’s idea of ‘Chariot that is pulled by two horses’?

(A) Desiring soul is the charioteer.

(B) Rational soul is located in the head.

(C) Rational soul is governed by restraint and modesty.

(D) Spirited soul knows the honour.

Choose the correct answer from the options given below:-

(1} (C) only
(2) (A) and (B) only
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' {3) (B) and (D) only
(4) (A), (C) and (D) only

frafaiia 1 s w2 % | 98l g ©iE 9H 9 W % ER 9 3 w9 9 deivg 22

(A)
®)
©
(8)

Feo1 w arefl senn wrefi 3

@ e wierss § e 2

b st o R SR famwen gro wanféE feean s 21
serd e (fafee @) &1 wlow /oM &1 S 21

4= feu o fawedi § A gt 9 & wwa dhifom)

D
@
(G

@)

%4 ()

HaE (A) 3 (B)
bae (B) 3 (D)
% (A), (C) IR (D)

[Question ID = 3858][Question Description = Q42_Psychology SHAAN_NOV21]

14

[Option ID = 14895]

Lok

[Option ID = 14896]

K2

[Option ID = 14897]

4. 4

[Option ID = 14898]

43) Ethological approach to motivation mainly explains

(A) biological aspects of behaviour.
(B) evolutionary history of behaviour.

(C) causation of behaviour in terms of stimulus, hormonal and neurobiological events.

(D) proximal determinants of behaviour.
Choose the most appropriate answer from the options given below :

(1)} (A) and (B) only
(2} (C) and (D) only
(3) (A),(B) and (C) only
(4) (B}, (C) and (D) only

IS &g AETieehl YR e i & Saren #d § -

&)
®
(&)

D)

SIgER F SIS ggq

SragE #1 faewmans st

JET9eh, BMA 9 e Sfqdr gemell & Hdy 1 @En % Fm
SIaER & dfwe frafs

Hra fen o fasredi 4 6 we@ 39w TR F T Fifw)

@)
@

(3)

Fadl (A) N (B)
Hae (C) I (D)
FaE (A), (B) 3R (C)
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@ &I (B), (C) 3 (D)
[Question ID = 3859][Question Description = Q43_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14899]
2. 2

[Option 1D = 14300]
2

[Option ID = 14901]
4. 4

[Option 1D = 14302)]

44) Loftus and Pickrell (1995) asked people to read and think about events which had happened to them in childhood and
also instructed to write a description of one event which was actually fictitious, About one third of the participants
described the fictitious events as having really happened to them. This is called:-

(A) Eyewitness memory

(B) False memory

(C) Flash bulb memory

(D) Autobiographical memory

Choose the correct answer from the options given below:-
(1} (A) and (B) only
(2} (B) only

(3) (B) and (C) only
(4) (A) only

el R fUsta (1995) 4 @ | 39 9999 U =ied 9213l & 91 o g 3R Wiwd &l &8, uE A
MFHaiF 4 T W we &1 avF off wie e @l wE A 6 Soga wege ot ww-foEs
wfamfind 3 38 weafres gea % 9N W Fvia fea SR e ST w1y 58 anad W =i g8 @) 39 e
2

A  yeages Hfa
® fhen
©) v wfy

D)  IAHHATHS T

R feu mu fasedi B B wE I w1 v ity
(1) 5 (A) I (B)

@ %9 (B)

3 %9 B) A (©)

@ FEE Q)

[Question ID = 3860][Question Description = Q44_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 14903]
2. 2

[Option 1D = 14304]
S

[Option ID = 14905]
4. 4

[Option 1D = 14306]

45) Which of the following characteristics are applicable to emotions that are considered to occur as a result of interaction
among subjective and environmental factors and neural and hormonal processes?

(A) Emotions give rise to hedonic experiences,



www.prepp.in

(B) Emotions stimulate to generate cognitive explanations.
(C) Emotions trigger variety of internal neurobiological changes.
(D) Emotions always elicit rewarding behaviour.

Choose the most appropriate answer from the options given below:-
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A), (B) and (C) only

(4) (B), (C) and (D) only

frafefga 1 @ =0 @ fadvad swreefig of wafaofla wewi 9w qifda R gsa fened $

AR 3009 G T WY Bl 87

(A)  HIN GEIE 3[9El Bl 5 od 3

B) a7 AFHRAS LIS Bl I B B ISR FE B

(©) |IN IS TFR & Fiaie, afrw Sfadm whasdHl w 3aa s )
D) | gHI e oragr w1 fmfa w2

9 Tou 7 faeked] 1 o 999 39gE W H I FifTu)

ey
)
(3)
@

Fael (A) I (B)
%39 (B) 3 (C)
HIE (A), (B) 3R (C)
I (B). (C) 3R (D)

[Question ID = 3861][Question Description = Q45_Psychology_SHAAN_NOV21]

1

1

[Option ID = 14907]

2

[Option 1D = 14308)]

i

[Option ID = 14909]

4

[Option ID = 14310]
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46) In the two group design with a continuous dependent variable, which of the following measures of effect size can be
employed?

(A) Cohen’s d

(B) Point biserial correlation
(C) Eta square

(D) Partial eta square

Choose the most appropriate answer from the options given below:-

(1} (A) only

(2) (B) and (C) only

(3) (A), B) and (C) only
(4) (A), (B) and (D) only

e anfha giedi o T3 agg afiveses o, Frafofaa 0 9 fop SR w9 @61 =M fF S wahdt 87

(&)
®B)
(©)
D)

HET H A
forg - Tozwltrer wgasy (A= amHdifEe)
el i (Eta square)

3T WI-97 (Partial Eta square)
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e fou o faredi 4 @ waifys 3w I i)

(D
@)
(3)
4

HTE (A)

+9e (B) 31 (C)
9 (4), (B) 3 (C)
FTE (A). (B) ¥R (D)

[Question ID = 3862][Question Description = Q46_Psychology_SHAAN_NOV21]

1. 1

[Option ID = 14911]

i

[Option ID = 14912]

30

[Option ID = 14913]

4, 4

[Option ID = 14914]

47) Which of the following are considered as projective tests of personality?

(A) Thematic Apperception Test (TAT)

(B) Rotter’s Incomplete Sentences Blank {RISB)

(C) Guttman’s Scalogram Analysis

(D) Kent-Rosenoff Free Association Test

Choose the correct answer from the options given below:-

(1) (A) and (D) only

(2) {A), (B) and (C) only
(3) (A), (B) and (D) only
(4) (A), (B), (C) and (D}

1 1 A 3 | safires % wafe whaw 27

A ofinfes vrmes T (A &)

B) U 1 g arey uite (R, s, wE, )
© A THAm srrerfiE

D) FHe-ToHS qF dEad gdeo

Fr2 fou o e 3 A wé I W T Hitww)
(1) e (A) 3 (D)

@ % (A). B) AN(C)

3  Fa (A), (B) I (D)

@  FE Q). B), (©) 3 D)

[Question ID = 3863][Question Description = Q47_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14915]

2. 2

[Option ID = 14916]

3. 3

[Option ID = 14917]

4. 4

[Option ID = 14918]
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48) Which of the following are correctly described influences of Behaviourism?

(A) Watson’s scientific psychology was designed to predict and control human behaviour

(B) Mary Cover Jones studied the effectiveness of counter conditioning

(C) Skinner claimed to have introduced the term ‘Behaviour therapy’ and is also credited for it
(D) Lazarus emphasised the extension of Thorndike’s Law of effect

Choose the correct answer from the options given below:-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (A) and (B) only
(4} (C) and (D) only

frferfiga § | w13 saaerare & vaEl f o w9 9 suren s 20

(A)  FreEd % dente wEifase f e mada sERr %1 3gaE ane e e el o % fere
AR

B) T HF F 4 glasHTeen H wEelie &1 sweEA fFa)

(C)  Thi A “oragr fafersar weg =i wfaurica e aTi 32 s 23 ot fem srar 2)

(D) rE 3 dHEES & g fagin $ fear woea fen

= feu o fowmedi O B gt I w1 5 Hifwy
(1) = (A) 30 (D)
(2) %9 (B) 3 (O)
@) & (A) AR (B)
4 %9 (C) 3R (D)

[Question ID = 3864][Question Description = Q48_Psychology SHAAN_NOV21]
1.1

[Option ID = 14319]
2. 2

[Option ID = 14920]
3.3

[Option ID = 14921]
4, 4

[Option ID = 14922]

49) Interscorer reliability is relevant in:-

(A) projective tests of personality

(B) achievement tests with short answers

(C) achievement tests with essay type questions

(D) self-report personality inventories

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) {A) and (C) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

=ik ferpareiara fopa whiamii § wele gt 22
A)  wafwea & wdfie wham

(B) = Il I wfey gz
(© =g yer & oAl a1 Al aifiam
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D) sen-ghaa safema geAEE!

fa fo 7o faepedt § @ wdt ow W ww Hiftw)
() 99 (A) M (B)

(2) a9 (A) AR (C)

(3 e (A), (B) 3 (C)

(@) %3 (B). (C) IR (D)

[Question ID = 3865][Question Description = Q49_Psychology_SHAAN_NOV21]
T

[Option ID = 14923]
2. 2

[Option ID = 14924)]
3. 3

[Option ID = 14925]
4. 4

[Option ID = 14926]
50) Which of the following tactics for gaining compliance are based on reciprocity?
(A) The Door-in-the - face technique
(B) “That’s - Not-All” Approach
(C) Playing hard to get
(D) Foot-in-the Door Technique
Choose the correct answer from the options given below:-
(1) {A) and (B) only
(2} (A) and (C) only

(3) (B) and (D) only
(4) (C) and (D) only

Fqaren @ & fo ffafiaa § @ F9-w gfeat wroefea w snafa 22

(A) =g O wEEe B 1 9{t %11 (The ‘door-in-the-face’ technique)
B)  “gdl uata 7 8 I9E  (That's-Not-All approach)
(C) T3 IH HE & a0 I @11 (Playing hard to get)

D) Al THEH Y T4 ! doiF (Foot in the door technique)

e feu o fasedi ° © wg I &1 T3 Hie)
()  =d (A) 3N (B)
@  FEE (A) 3 (C)
3 %A% (B) I (D)
4  Fad (O) 3R (D)

[Question ID = 3866][Question Description = Q50_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 14927]
2. 2

[Option ID = 14928]
S
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[Option ID = 14929]
4. 4

[Option ID = 14930]
51) Which of the following type of inversion is observed in reaction formation?

(A) Implicit

(B) Explicit

(€) Conscious

(D) Unconscious

Choose the correct answer from the options given below :-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (B} and (D) only
(4) (A) and {C) only

sforen famfor 9 fFrafafes 4 9 sgery = +9 @1 yer g@ ST 27

(A I
B) T4
(C) ~dH
(D)  INa<aH

H= feu mo fawedl § 4w S = 93w i,
(1) % (A) (D)
(2  Waw (B) 3 (O)
(3 ¥ (B) 3 (D)

@ I (A) HN ()

[Question ID = 3867][Question Description = Q51_Psychology_SHAAN_NOV21]
1. 1 [Option ID = 14931]
2. 2 [Option ID = 14932]
3. 3 [Option ID = 14933]
4. 4 [Option ID = 14%34]

52) Attitudes can be classically conditioned even without our awareness by which of the following?

(A) Subliminal conditioning

(B) Observational learning

(C) Mere exposure

(D) Social networks

Choose the correct answer from the options given below:-

(1) {A) and (B) only
(2) (B) and {C) only

(3) (A) and (C) only
(4) (B) and (D) only

sfvgfeat &1 wenfed agaea faan @ Svrssar (s A) & B 3 9 feess mem 3 8 aear 87
(A) e e

(B)  sAdcirwARgs Afm

(©) e sl

(D) wEfEe wee
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Ji feu o fompedi 4 @ = 39T @1 9H Hifv

)
2)
(3
C)

[Question ID = 3868][Question Description = Q52_Psychology_SHAAN_NOV21]

14

hac (A) 3R (B)
+ae (B) 3 (C)
FS (A) 3R (O)
F9 (B) 3R (D)

[Option ID = 14935]

2. 2

[Option ID = 14936]

i

[Option ID = 14937]

4. 4

[Option ID = 14938)]

53) Which among these is correct for Cyber bullying?

(A) It involves disinhibition

(B) Lesser role of Bystanders

(C) Ability of targets to retaliate is more

(D) No evidence left behind

Choose the correct answer from the options given below:-

(1) {A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(4) (A), (B) and (D) only

g WATY-$et o aR § i 8§ YA JE 27

(A)
(B)

(©

(D)

o siqsien Freawor mive 2

3t eyl S FH e 2 2
sy gfasiy wen w1 wme wfvs g 2)

T8 HIE wieg T8 g9 2)

f9 fou o foesedi 0 9 w6l 3o @ wgq s

(1)
2
(3

(4)

[Question ID = 3869][Question Description = Q53_Psychology_SHAAN_NOV21]

|

Fa (A) IR B)
+ad (A), (B) IR (C)
Fda (B), (C) 3R (D)

%99 (A), (B) 3R (D)

[Option ID = 14939]

2. 2

[Option ID = 14940]

£

[Option ID = 14941]

4. 4

[Option 1D = 14942]
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54) Which of the following in learning environment are considered to be true about school success?

(A) The self image is vital to learning

(B) Very high goal setting is necessary to motivate and study

(C) Success experience is a function of challenge more than repetition
(D) Child’s spiritual identity is vital to learning

Choose the correct answer from the options given below:-

(1)} {A) and (D) only
(2) (B) and (C) only
(3} {A), (C) and (D) only
(4) (B), (C) and (D) only

whedl gwad & fon FreafaRaa 4 9 siftem oiaw % fowa 4 w8 w1 sfea am smom ?

(A)
(B)
©)

D)

e Bfg it % fau arfver 2

Yo 37 sremEA & fo srfa 3= @ @1 Rt smaws 2)
wopeAdl i Il FRER @ it A wR w9 % i )
w= h sneafrs ygam sftm F o, sifard 3

Hra feo o fpedt 1 9 | 3w w1 w3 Hifd:

(1)
(2)
(3

@

Had (A) 3R D)
HId (B) 3T (C)
%ael (A), (C) 311 (D)

%ad (B). (C) 3R (D)

[Question ID = 3870][ Question Description = Q54_Psychology SHAAN_NOV21]

1.1

[Option 1D = 14943]

iR

[Option ID = 14944]

33

[Option ID = 14945]

4, 4

[Option ID = 14946]

55) Which of the following are the performance subtests of WAIS?

(A) Digit span

(B) Similarities

(€) Digit symbol

(D) Object assembly

Choose the correct answer from the options given below:-

(1) (A) and {C) only
(2) (C) and (D) only
(3) (B}, (C) and (D) only
(4) (A), (C) and (D) only

g § 4 #H geog ¢ g wa (WAIS) & frsurgy soudiam &7

(4)

B)

©

s Tawan (fefoe wq)
arEga (i)

31 i (fefoe fama)
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D) T IIH (INeadFe IFETEA)

A9 fev mu faweui § @ WEl I 1 = i,
(1) %Ed (A) 3R ()
@  F=a (O I D)

(3) %FA (B). (O) 3 (D)
@ %= (4), (C) 3R (D)
[Question ID = 3871][Question Description = Q55_Psychology SHAAN_NOV21]

1.1

[Option ID = 14947]
2.0

[Option ID = 14948]
3.3

[Option ID = 14949]
4, 4

[Option ID = 14950]

56) Which of the following categories were given by Skinner for different verbal responses in terms of how they are
reinforced?

(A) Mand

(B) Tact

(C) Echoic Behaviour

(D) Autoclitic Behaviour

Choose the correct answer from the options given below:-
(1) (A) and (B) only

(2) (C) and (D) only

(3) (A), (B) and {C) only
(4) (A), (B), (C) and (D) only

g & T e whiemn % e arfus wegedl B Afowr fom d @ 9 @ Ee

(a) Hs

B &

(C) TS SR (3higeh fareform)
D) IRifeRF =8

#i= feu mo fowedi o @ wh 39 F1 wyq FHifom:
(1) %l (A) IR (B)

(2 % (C) I (D)

(8 &€& (A), (B) 3 (O)

4 a9 (A), (B), (O) 3 (D)

[Question ID = 3872][Question Description = Q56_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14951]
2.2

[Option ID = 14952]
3.3
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[Option ID = 14953]

4. 4

[Option ID = 14954]

57) Which among the following does not refer to Social Referencing?

prepp
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(A) Intentional search for information about others’ feelings, to help explain the meaning of uncertain circumstances and

events

(B) It occurs around the age of 2 - 3 years
(C) Infants make use of facial expressions in social referencing

(D) Infants need to understand the significance of other’s behavior within the context of a specific situation

Choose the most appropriate answer from the options given below:-

(1) (B) only

(2) {A) and (C) only
(3) (B) and (C) only
(4) (A) and (D) only

w0 W Prae 30 At g & fae T gy

(A)

(B)

(©)

(D)

srfafeam widfeufoai aun aemsll % o1 &1 avl 9 4 | wgE 3g SeEER gl f wemst
% a1 H Gl &l

AR AT 2-3 HIA $ 39 %+ 3E 91H e 2l
Jastrd warfes Hedq 4 98t % gE-YE 1 99 S 3

Faaa i feed] fadie fufd A gl & saoRm & waw@ @ woen Y sTAvEEAl @d 2

= feu mu faeedi § 9w g &1 97w Hifa:

(D
2)
(3
@

Fad (B)

FHaA (A) 3 (O)
%99 (B) 3R (O)
& (A) 3R (D)

[Question ID = 3873][Question Description = Q57_Psychology_SHAAN_NOV21]

|

[Option ID = 14955]

2. 2

[Option ID = 14956]

£

[Option ID = 14957]

4. 4

[Option 1D = 14958]

58) Which of the following characterizes Cognitive Dissonance?

(A) Dissonance often occurs in situations involving forced compliance

(B) Attempts to resolve dissonance are reflected in increased cortical activity

(C) Dissonance cannot be reduced directly but only by adding cognitions that justify our behaviours
(D) Dissonance is stronger when we have little justification for our attitude - inconsistent behaviour
Choose the correct answer from the options given below:-

(1) {A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D) only

Fafafiga 0 9 5 a9Emas sty <61 fasva sge 27

(4)

srafa 39 afdafeat 8 gl & o srfvard sgaven snfier 21



www.prepp.in

(B)
(©)

(D)

et framon 3 yarg aftfa mice (@iféesa) nfafafa 3 wehis gk )
smmta # ®ig Hfi FaE fem - v aifig 97 Foa w3 FI SeA 14 A B oo 2
ST @ W Bl 2 9 gar g 2 sfiEe-sreama SEEn 1 #9618 a)

42 feu o fysedi W 9 Wl 3w @ waw Hhifom:

D
(2)
(3)
(4)

F (4), (B) 3 (C)
FIE (A), (B) IR (D)
*ad (B), (C) 3N (D)
¥4 (A), (B). (C) 3N (D)

[Question ID = 3874][Question Description = Q58_Psychology SHAAN_NOV21]

1.4

[Option ID = 14959]

i

[Option ID = 14960]

Fui 3

[Option ID = 14961]

4, 4

[Option ID = 14962]

59) New Mood Therapy:-

(A) is a cognitive therapy

(B) is meant for treatment of depression

(C) involves many behavioural interventions

(D) was originated by Ellis

(E) is action commitment therapy

Choose the correct answer from the options given below:-

(1) (A), (B) and (E) only
(2) (A), (B) and (C) only
(3) (B) and (E) only

(4) (B), (C) and (D) only

@A) W g fafhen B

(B) UB HIUE % IU=H + fore &+ 2)

(©)  3HH 3% SHaENIHS L] = e e T
D) =g uiem gra sfaurfea e o)

E) =z T gfaagm fafeean 2)

el feu e ferepeni U § @ 391 &1 95 fifa;

() ¥ (A), B) 3 (B)

2 e (A), B) 3 (O)

(3 %= (B) 3 (B)

@ % (B), (C) 3R (D)

[Question ID = 3875][Question Description = Q59_Psychology_SHAAN_NOV21]

1.1
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[Option 1D = 14963]
2. 2

[Option ID = 14964]
3.3

[Option ID = 14965]
4. 4

[Option ID = 14966]

60) The components of ‘Working Memory’ are:-

(A) Acoustic unit
(B} Semantic unit

(C) Central executive

(D) Episodic buffer

Choose the correct answer from the options given below:-

(1} (A) and (B) only
(2) (A) and {C) only
(3) (B) and ([}) only
(4} (C) and (D) only

e wfa & e aes @

(A) %AV A

B) = I

(© e wan (dge uEaegia)

D)

geeg wfatia (ofteifes awr)

H=1 feu o famegi 9 9 v 3 =1 =1 Hifdo:

(1) el (A) 3R B)
(2) % (4) 3R (©)
3 % (B) AN D)
(4 e (C) 3R (D)

[Question ID = 3876][ Question Description = Q60_Psychology SHAAN_NOV21]

1.1

[Option ID = 14967]

AN

[Option ID = 14968]

e

[Option ID = 14369]

4, 4

[Option ID = 14970]

61) Mayer-Salovey-Caruso Emotional Intelligence Test (MSCEIT) measures:-

(A) Perceiving emotions

(B) Using emotions to facilitate thought

(€) Understanding emotions

(D) Implicit motivation

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only
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B - Fledld - <bred] 9dMcHs qlg 90el0] HETANEd 0 8 Teohd &l HIG Al 87

(A) maw sy (geaafior)

B O & g™ E & e ganl w1 gam
(C) €& =) TEEEl

D)  Fafifza sfwmon

fr1 fou o fpedi B & W 3w H W HC
() e (A) 3 (B)

(2 9 (C) 3 (D)

3) %9 (A), (B) 3N (C)

(4)  Had (B), (O) 3 D)

[Question ID = 3877][Question Description = Q61_Psychology SHAAN_NOV21]
1. 1

[Option 1D = 14371]
2. 2

[Option ID = 14972]
3.3

[Option 1D = 14973]
4, 4

[Option ID = 14974]

62) Which of the following are features of Metacognition?

(A} Encoding

(B) Regulation

(€) Monitoring

(D} Evaluation

Choose the most appropriate answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (C) and (B) only
(4) (B), (C) and (D) only

sferam &t fafafea @ @+ H fafigand €7

(A  FH
® fafeem
(©  wigoEm
(D) YA

H= fou o fersmedi @ @ wailys 39y I w1 w1 At
(1)  =ad (A), B) 3R (C)

(2 ¥ (4) 3 (B)

3 %9l (C) 3N (B)

(4y  FHad (R (O 3 (M)
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[Question ID = 3878][ Question Description = Q62_Psychology SHAAN_NOV21]

Pt

[Option ID = 14975]

Luk

[Option ID = 14976]

(I

[Option 1D = 14977]

4. 4

[Option ID = 14978]

63) Jensen’s Level 1 and Level Il abilities can be best understood in terms of which of the following?

(A) Difficulty and complexity of tasks
(B) SES Differences

(C) Racial Differences

(D) Gender Differences

Choose the most appropriate answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

S 6 S 19 ol T1 A ) Petfaa § 3 e % wod 3 geien awE o v 27

(A)
B
(&)

(D)

= feu U faeredi B U WS I9ITH I B 994 Hifore;

D
(2)
3

(4)

[Question ID = 3879][Question Description = Q63_Psychology_SHAAN_NOV21]

1.1

HE hl HigHA1 9 Sl
T 3 T A

T AW

s i

F (A) 3 (B)
% (C) 3T (D)
®adl (A), (B) I (O
% (B), (C) ¥ (D)

[Option ID = 14979]

2. 2

[Option ID = 14980]

£

[Option ID = 14981]

4. 4

[Option ID = 14982)

64) What are the characteristics of ‘Emerging persons’ in Rogerian approach?

(A) Honest and open

(B) Indifferent to material comforts and rewards
(C) Caring

(D) Having profound trust in authority

Choose the most appropriate answer from the options given below:-

(1) {A) and (B) only
(2} (C) and (D) only
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| {3) (A), (B) and (C) only
(4) (B}, (C) and (D) only

TeteA 39 | STl sufeal 3 dew = g7

(&)  3uFER 3R o

(B) @I YRAMAT 3R [l & 9fd g
(C) TE-9E F& gren (gfafaa)

D)

gftrpR W qui favard & are

= fou o fasredi 0 8 gaE I9YH W FH1 T Hif;

(L
2)
(3)

(4

e (A) 3 (B)
+ae (C) 3R (D)
%dd (A), (B) 3R (C)

e (B), (O) 3R (D)

[Question ID = 3880][Question Description = Q64_Psychology SHAAN_NOV21]

1.1

[Option ID = 14983]

2

[Option ID = 14984]

3. 3

[Option ID = 14985]

4. 4

[Option ID = 14986]

65) Which of the following are correct for the Biopsychosocial Model of health?

(A) Close interaction between body and mind, though they are separate entities

(B) Active participation of the patient

(C) Health and illness are on the same continuum

(D) Treatment process involves medication, surgery and radiation
Choose the most appropriate answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B}, (C) and (D) only
(4) (A), (B), (C) and (D)

@R & - gfaem % an § Frefafea 1 @ o 1 ww el 2

(A)

(B)
©)

D)

Ty wiR SfR witrss % ned e oFd: TR Al 2 7l A gy am §l
Tfl &1 wfra gl
wreA 3 Sty 2 my-wy It 3

Iyar sk 4 atwfy fafesa, soa fafeem 3t fafemon mfta 2

A few o fompedt § @ waifis swre s g

(1)

2)

%34 (A), (B) IR (O)

hae (A), (B) 3 (D)
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(3)

(4

%94 (B). (O) 3R (D)

(A), (B, (C) 3R (D)

[Question ID = 3881][Question Description = Q65_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14987]
2. 2

[Option ID = 14988)
e

[Option ID = 14989]
4. 4

[Option ID = 14990]

66) Match List | with List Il :

List |

Concept

(A) Turiyavastha

(B) Aparvidya

(C) Paravidya

(D} Nididhasan

List Il

Description
() Transcognitive realisation
(Il) Highest state of consciocusness
(Ill} Transcendental knowledge

(I¥) Empirical knowledge

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(I1), (D)-(IV)
(2)  (A)-(11}, (B)-(11), (C)-(IV), (D)-(I)
(3)  (A)-(11}, (B)-(1), (C)-(ll1}, (D)-(IV)
(4)  (A)-(llny, (B)-(11), (C)-(IV), (D)-(I)
o= 1% w gE=h 1L &1 e ifs
-1
Heheu 1l
(A) i 3
(B) rarferEn
(C) wurfern
(D) fAfesrras

=11
faam
D R S
(ID = ht 3= 31a
(M) e T
@V) gyt wH (gediftera)

4= v mu faeei 4 @ g 3W @ wE A

(1
2)
3
4)

(A)-@. B, (©)-aD. D)-aV)
(&)-D, (B)-ID), (C)-AV), (D)-(D
A)-AD, B-O. (O)-AD, D)-aV)
(A&)-TD). B)-{D. (C)-AV). (D)-D

[Question ID = 3882][Question Description = Q66_Psychology_SHAAN_NOV21]
T

[Option ID = 14991]
2.7

[Option ID = 14992]
3 3

[Option ID = 14993]
4. 4
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[Option ID = 14994]

67) Match List | with List 1l :

List | List Il

Variable type Examples
(A) Artificially discrete variable () Reaction time
(B} Continuous behavioural variable (I Gender

(II1) Selection test result interms of
selected, Not selected, On waiting list

(C) Continuous organismic variable
(D) Dummy variable (I¥) Height
Choose the correct answer from the options given below ;
(1) (A)-(1n), (B)-(), (C)-(IV), (D)-(I)
(2)  (A)-(), (B)-(v), (C)-(1), (D)-(I)
(3)  (A)-(1}, (B)-(IV), (C)-(1}, (D)-(1I)

(4)  (A)-(1), (B)-(m), (C)-(IM), (D)-(IV)

T 1% | 5= 11 w1 firems hifor)
g1 g1l
T TR TR0l
(&) S H guE W @ fafen =
(B) ddd =HagIiE =R an fom (GeeR)
(C) gag dAfas = (OI) =afa, s=aEd, sden g=h b, & F@ed d
=4 gl
D) BA= (V) Harg

Fra feu mu fredi § @ g I w1 =EA Hifao

1  A-AID, (B)-M. (O)-IV), M)-ID
2y  A-AIm. B)-av). (O-O, O)-AD
@ @-AD, (B)-aV), (C)-1)., (D)-(A1D)
@ A-O. B)-IID. (O)-1D, (D)-AV)

[Question ID = 3883][Question Description = Q67_Psychology SHAAN_NOV21]
1.1

[Option ID = 14995]
2. 2

[Option ID = 14996]
3.3

[Option ID = 14997]
4, 4

[Option ID = 14998]

68)
Match List | with List Il :
List | List Il
Depth Cues Explanations
(A) Motion Parallax {1 Both eves fixate on the same

point in space
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(B) Texture Gradient

(C) Interposition

(D) Convergence

() Partial occlusion of a far object
by a near object

(lll) Graded variation in the shape,
size and density of the surface
elements

(I¥) Movement in one part of the
image relative to another

Choose the correct answer from the options given below ;

(1) (A)-(), (B)-(11), (C)-(IV), (D)-(1)
(2)  (A)-(IV), (B)-(II), (C)-(), (D)-(1)
(3)  (A)-(), (B)-(IV), (C)-(ll1), (D)-(IN)
(4)  (A)-(lI}, (B)-(1), (C)-(111), (D)-(IV)
= 1% Wy = 0 & fem Fif
el
A1 Hehd
(A)  Tfafemausmg

(B) T=AT YTl
(C) At (FIIET=gA)

(D) iy

-0
SR

@ 2 o i A g W G s A e
LAl

(ID) =SS 1 o1 R Y O B S
weH

(IID) Hadl T & ®9, JHR MM 973 0 wia
IEECH

IV) viepfa & ws 9/ o gEl 9 & "N
HaH

H= feu mu 9wt § @ wdl s T B

1  (A-AID. B)-AD. (C)-AV), (D)-(D
@ (A)-AV), B)-11). (O)-AD). (D)-M
3 (A)-D, B)-1V), (C)-dID), (D)-AD
@ A-AD. B)-(D). (C)-dID), (D)-AV)

[Question ID = 3884][Question Description = Q68_Psychology SHAAN_NOV21]

1.1

[Option ID = 14999]

AN

[Option ID = 15000]

e

[Option ID = 15001]

4. 4

[Option ID = 15002]

69) Match List | with List Il :

List |
Tests

(A) Creative Achievement
Questionnaire

(B} |deational Behaviour Scale

(C) Preference for Active
Divergence Scale

(D) Consensual Assessment
Technigue

List 1l

Psychologists
() Carson-Peterson-Higgins
(I Runco

(Ill) Basadur

(IV) Amabile

Choose the correct answer from the options given below :

(1)

(A)-(I), (B)-(I), (C)-(IN), (D)-(IV)
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(@)

(A)-l1}, (B)-(1), (C)-(IV), (D)-(IN)
(3)  (A)-(I), (B)-(1¥), (C)-(D), (D)-(N)
(4)  (A)-(Iv), (B)-(D), (C)-(), (D)-(1)
g 15w g= 1T w1 foermm i)
i1
g

(A) Yo qafe Jerered]
(B) Taanurcus sHagr A
() §fsha sromw 7w % fore adieran
(D) Ui Ao Wiy

48 few e fowsedi 8 @ 9 39 %1 993 hifd .

(1
(2)
3
4

(A)-(D, B)-(1D. (O-ID), (D)-AV)
(&4)-aD, (B)-(D). (O)-(IV). (D)-11L)
(A)-dID. (B)-IV). (OO, (D)-(1D
&)-av), (B)-(I1I), (C)-aD, (D)-(D

[Question ID = 3885][Question Description = Q69_Psychology_SHAAN_NOV21]

1. 1

[Option ID = 15003]
2. 2

[Option ID = 15004]
3, 3

[Option ID = 15005]
4, 4

[Option ID = 15006]

70) Match List | with List Il :

List |

Indices

(A} Universal Index

{B) Disclosure Index

(C) True Response Inconsistency

(D} Coping Deficit Index

List Il
Test
() OATB
(1)  MCMI
(1)  MMPI
(IV) Rorschach Inkblot Test

Choose the correct answer from the options given below :

(1) (A)-(l), (B)-(IN), (C)-(llN), (D)-(IV)
(2)  (A)-(ll}, (B)-(1), (C)-(IV}), (D)-(II)
(3)  (A)-(lIn, (B)-(IV), (C)-(1), (D)-(II)
(4)  (A)-(IV), (B)-(INI), (C)-(N), (D)-(I)
=l 1% s gt 11 1 faer i)
T
HIAHE
(A) HEIH YEHS

=11
qfigro
O udH
(I) g H W
(OI) A A 6 3
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(D) HYRRN =R YEHi avy dufs wrd gen gl
#r= feo v fowedl § | € 3w = was S

@O A-O. B-AD. (CO)-dD). (D)-AV)
@  A-aD. B-(D. (O-AV). (D)-AID
& (A-aID. B)-AV), (O)-O), (D)-AD
@  (A)-aQv). B)-dIb, (G-I, (D)-(D
[Question ID = 3886][Question Description = Q70_Psychology_SHAAN_NOV21]

Pt

[Option ID = 15007]
2. 2

[Option ID = 15008]
3.3

[Option 1D = 15009]
4. 4

[Option ID = 15010]

71) Match List | with List 1l :

List | List Il
Social Concepts Explanations
(A) Elaboration Likelihood Model ()  Gender stereotypes

(Il) Central and peripheral route to

B} Realistic Conflict Theo
) : o persuasion

(lIll} ldealogical change in core aspect

(C) Glass CIliff & waraup

(IV} Intergroup competition as a

D)} Schism
®) source of prejudice

Choose the correct answer from the options given below :
(1) {(A)-(l), (B)-(I), (C)-(I1), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(), (D)-(N)
(3)  {(A)-(ll}, (B)-()), (C)=(IV}, (D)-(IN)
(4)  (A)-(ll}, (B)-(IV), (C)-(I}, (D)-(IT)

el 19 sy gt 11 &1 faema it
g1 FeII
It Hre: T / =areEn
(A) faeelm  duesn gfwm (eEiem () @fes wfean (gvoom)
Argeheilgs)
(B) driaE g5 F1 HgE AD) SEPH % Hies @ i g
(C) Tor-fae® @D Bl o F el ved U dates
gftas
(D) fen (faescam) (IV) Ydaron & @id & &9 § JR-ugg el
1= feu mu fosredi 0 @ Wi I 1 A i

1 A0, B)-IID), (C)-1D), (D)-IV)
@  (A-AID. B-aAV). (CO-D. (D)-AD
(3  (A-AD. B)-O). (O)-AV), (D)-IID
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4)

(A)-adD). (B)-(IV), (C)-(D), (D)-AII)

[Question ID = 3887][Question Description = Q71_Psychology SHAAN_NOV21]

1.1

[Option ID = 15011]

iR

[Option ID = 15012]

353

[Option ID = 15013]

4, 4

[Option ID = 15014]

72) Match List | with List 1l :

List |

Type of communication in family therapy

(&)
(B)

()

(D)

Congruent

Placating

Blaming

Super reasonable

List Il

Description
()  Carries an air of self importance
(Il) Placing others above oneself

(Ill) Seeing the world with a lens of
objectivity and coolness

(IV) Reasonably flexible with a sense
of connection

Choose the correct answer from the options given below ;
(1) (A)-(ln), (B)-(), (C)-(IN), (D)-(IV)
(2)  (A)-(1}, (B)-(M), (C)-(1), (D)-(IV)
(3)  (A)-(v}, (B)-(I), (C)-(1}, (D)-(1N)
(4)  (A)-(V}, (B)-(I), (C)-(Il}, (D)-(1M)

gt 1% @y g I &1 farem ifvm)

(A)
(B)
©
D)

g1

i@ Ffham | =R #1 gl
A

TeTehfen

Y FeIR

3= fagsyu

-1
ELE]
() ren-uged $ gar § G
(D) TEL 139 8 SR G
III) EER & sEeREda 38 3 @ @
IV) I3 BN % urg & Y WY Y A<

i v e faeedi O 9 Bl IR % g3 Fifda

(1)
)
(3)
G

(A)-(L1D), (B)-(D), (O)-(1D), (D)-IV)
(A)-(D). (B)-{I), (C)-@). (D)-AV)
(A)-(IV). (B)-(1T). (C)-(I), (D)-I1D)
(A)-AV). (B)-(D, (C)-I), (D)-(I1D)

[Question ID = 3888][Question Description = Q72_Psychology_SHAAN_NOV21]

|

[Option ID = 15015]

2. 2

[Option ID = 15016]

£

[Option ID = 15017]

4. 4

[Option ID = 15018]
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Your Personal Exams Guide



www.prepp.in

73) Match List | with List Il ;
List | List Il
Concept Description

() Not equipped with tools to move

(A) Situational Poverty
out

(Il Not able to meet the average

BY G tional P t
) SRSTERRRLOEr standard of society

(1) Scarcity of necessities like

C) Relative Povert
©) 7 shelter, running water and food

(Iv) Caused by environmental
(D} Absolute Poverty disasters, divorce and other issues like
poor health etc

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(m), (C)-(1V), (D)-()
(2)  (A)-(), (B)-(1), (C)-(IV), (D)-(I)
(3)  (A)-(v), (B)-(1), (C)-(I1}, (D)-(IN)
(4)  (A)-(Iv), (B)-(I), (C)-(1}, (D)-(I)

g=h 1% = g=h 1T o frem i)
-1 11
HEHA: AT
(a) wifeafos wleh (D & Feed & orm o sgaiea
(B) didha i D) H9N % 3Hd THEH B [ HA T 35899
(C) @iz hsf (IID) srfvar swqsi & =it §8 sram, Y5
R WIS
(D) Truey wiEf (IV) waEeim snvesl o (Waey Bae) o
F U 98 B owme @R ol
& ]

Hra feu Mo fysedi § @ wE I w1 ==E Fifdw

@O A-D. B-IL), (C)-aAV). O)-IAD
@  @A-AID. (B)-@). (C)-AV), (D)-(ID
3  (A-AV). B)-D. (O)-1D, (D)-dID
@ (A-IV). B-dD. (O-O, (D)-IID

[Question ID = 3889][Question Description = Q73_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 15019]
3.7

[Option ID = 15020]
3.3

[Option ID = 15021]
4, 4

[Option ID = 15022]

74) Match List | with List Il :
List | List Il
Theoretical Perspective Explanation

() Does not endorse different

A) Encoding Specificity Hypothesis
A 83p L memaory storage

(B) Retrival induced Forgetting (Il) Supress unwanted memories
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(€)

(D)

Schema Theory of Memory

Level of Processing Theory

(I} Superiority of recognition over
recall

(IV) Effect of meaning and knowledge
on memory

Choose the correct answer from the options given below :
(A)-(I1}, (B)-(IV), (C)-=(I}, (D)-(IN)
(A)-(1IN), (B)=(11), (C)-(IV), (D)-(1)
(A)-(1), (B)-(11), (C)-(IlN), (D)-(IV)
{(A)-(IV}, (B)-(1), (C)-(I1}, (D)-(IN)

gt 1% Wy = O = fram $Hifsw)

(1)
(2)
(3)
(4)

(A)
(B)

(o)
(D)

-1

Fgifaes g

Hfgara fafdrea fesesn
;199 YRE faarm

wfd =1 v (e fagia

UHaY T & fazE

Fel 11

ST
M T wfa e % wudw wE v 2
(ID) aaifed Wil %1 T

(IID) wfd W gefise 6 2

V) 19 IR FA H Wlo W 9™

4= feu U faeedi 0 @ wdl IH % =R hife

[Question ID = 3890][Question Description = Q74_Psychology_SHAAN_NOV21]

1)  A-AD. (B)-(IV). (C)-(D). (D)-dID
2) (A)-(ID). (B)-AD). (C)-IV), (D)-(D
(3) (A)-(D). (B)-(1D). (C)-(ID, (I)-(IV)
4  @A)-@V), B®)-1), (C)-dAD. (D)-(I1I)
1. 1
[Option ID = 15023]
i
[Option ID = 15024]
3.3
[Option ID = 15025]
4, 4

[Option 1D = 15026]

75) Match List | with List 1l :

List |

(A)
(B)
(€)
(D)

Cognitive Assessment System
Hold and Dout Hold Tests
Cognitive Assessment Battery

Differential Ability Test

List Nl
(N Dass
{Il) Wechsler
(lll) Cattell
(Iv) Elliot

Choose the correct answer from the options given below :

(1) {(A)=(l), (B)-(l1), (C)-(111), (D)-(IV)
(2)  (A)-(D), (B)-(1), (C)-(IV), (D)-(lIN)
(3) (M-, (B)-(1V), (C)-(1), (D)-(IN)
(4)  (A)-(IV), (B)-(ID), (C)-(I1), (D)-(1)
el 19 ey gt I1 &1 e il
=1
(AY  wfatra veads e
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(B) ZIe8 UF BI< Bles <IN @) aver

(C) wHimfafes waug= dd (M) e
O IeEa AAfafad av) sferae

+i= feu T foemedt 0 & @& 39 w1 waa i

(1
@)
3
4

(&)-I), B)-aD). (C)-dID), (D)-IV)
(A)-(ID. B)-(D). (CO)-IV). (O)-(IID)
(A)-(ID. B)-AV). (C)-O), (D)-AD
(A)-IV), (B)-(1D), (C)-AD). (D)-(D)

[Question ID = 3891][Question Description = Q75_Psychology_SHAAN_NOV21]

1. 1

[Option ID = 15027]

2. 2

[Option ID = 15028]

ik

[Option ID = 15029]

4, 4

[Option ID = 15030]

76) Arrange the first five elements of ‘Flow’ in correct sequence :
(A) Clarity of Goals

(B} Immediate Feedback of Actions

(C) Balance between challenges and skills

(D) Merger of awareness and actions

(E) Exclusion of distractions from consciousness

Choose the correct answer from the options given below :
(1)A,B,C, D, E

(2)A,C, B, D,E
(3)B,C, A,E, D
, A, D, E

»

>

W18 o WA 9T dedl bl BE A U A

(A =R e

®) el H qeer giagfe

© IR S H % e wge

(D) IFTEmdl 3R wE & fEFed

(BE) <a 1 9 fawdani &1 30esH

Hr= feu o ferpreul o @ w39 1 9 Fif
() ABCDE

(2 ACB.D.E

(3 B.C.AED

4 C.B,AD.E

[Question ID = 3892][Question Description = Q76_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15031]

2. 2

[Option ID = 15032]

prepp
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| Tl

[Option ID = 15033]
4, 4

[Option ID = 15034]

77) Arrange the following as per the Yogic Concept of Cognition.
(A) Sensorial transformation is attended by manas

(B) Reaction by budhi to the object of cognition

(€) Registration of external object on mind

(D) Assimilation and discrimination by manas

(E) Information te Ahamkara

Choose the correct answer from the options given below :

(1)C, A, E,B, D
(2)C, A, D, E, B
(3)A,C, D, E, B
(4)C,A, B, D, E

et A e 5 AR e w st w -

(A U wwEw W ga wfdd 2|
(B) uFH & g W gfg Hi wlafwm
(C) T W A I H FEA|

(D)  H9 E EEEIE 3T |
(B)  3EsR & favg °§ sl

Hi9 feu mu faeredi @ @ v I %1 =9a Hifve

(1) C.AEB.D
(2) C.A.D.E.B
3 ACDEB
(4 C,ABD.E
[Question ID = 3893][Question Description = Q77_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15035]
2. 2

[Option ID = 15036]
3 3

[Option ID = 15037]
4. 4

[Option ID = 15038)]

78) Arrange the following correlations in ascending order in terms of their strength of relationship
(A) - 0.75

(B) - 0.30

(C) 0,40

(D) 0.68

Choose the correct answer from the options given below :

(1)B,C, D, A
(2)B,A,C, D
(3)A,B,C, D
(4)D, C, B, A

frfafiaa agass ) 395 gay ) aaa & nan w30 e 1 syafir St

A -0.75
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(B) —0.30

(C) 0.40

M) 0.68

ra foe o feraredi | 2 wd 3w &1 w3 Hifow .

(), B.C.D.A
(2 B.AC.D
(33 A,B.CD

(4 D.C.B.A

[Question ID = 3894][Question Description = Q78_Psychology SHAAN_NOV21]
[

[Option ID = 15039]
2. 2

[Option ID = 15040]
Al

[Option ID = 15041]
4, 4

[Option ID = 15042]

79) The evolution of the various explanations or models of memory occur in the following sequence :
(A) Multistore

(B) Working memory

(€) Level of processing

(D) Interference

Choose the correct answer from the options given below :

(1) D,AC, B

(2) D,C,B, A

(3) A, B, C,D

(4) B,C,D, A

wfq F faftm srremsd s fandl @1 fesm Frafolaa soa g 2 -

(4) wgad (FediRR)

B Trarfier wyfa (atbm qar)

(C) 9k &1 T (S 3% JrEfa)
D) wfww (ki)

= feu e famedi U O wd 39 H 9 Fifsw

(), D,A.CB
2 D.C.B.A
(3 A.B.C,D

(4 B,C.DA

[Question ID = 3895][Question Description = Q79_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 15043]
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| 2. 2

[Option ID = 15044]
3.3

[Option ID = 15045]
4, 4

[Option ID = 15046]

80) Arrange in correct sequence, the first five intelligences given by Gardner :
(A) Linguistic Intelligence

(B) Logico-mathematical Intelligence

(C) Spatial Intelligence

(D) Kinesthetic Intelligence

(E) Natural intelligence

Choose the correct answer from the options given below :

@) el gt

B) TR gfe
© wfe gia

D) e gfg
(B) il 3ig

4 fou e faspegi O 9w I %1 = il
()  ABCD.E
(2 B.AC.ED
(3 C.B.A.D.E

4 D,CEBA

[Question ID = 3896][Question Description = Q80_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 15047]
2. 2

[Option ID = 15048]
3.3

[Option ID = 15049]
4. 4

[Option ID = 15050]
81) Arrange the Nafs (Self in Sufism) from lower to higher self ;

(A) The self pleasing to God

(B) The pure self

(C) Inspired self

(D} Serene self

(E) The pleased self

Choose the correct answer from the options given below :

(1)E,C, A, B, D
(2)C,D,E, A, B
(3)C,E,A, D, B
(4)B,C,E, D, A

Tm fobare 7 1= = P O 5—=r=aT 1=, F6 smroor =T .
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A) 3 I I H e @
® Tz W=

(C) 3@ =

(D) I &

(E) orgifed w@:

fra few wu fysredi 4 9 v 3w =1 93w Hifse .

(1) E.C.A,B.D
2) C.D.E.A.B
(3 C.E.AD.B

(4) B.C.E,D. A

[Question ID = 3897][Question Description = Q81_Psychology SHAAN_NOV21]
1.1

[Option ID = 15051]
2, 2

[Option ID = 15052]
3.3

[Option ID = 15053]
4, 4

[Option ID = 15054]

82) According to Master and Johnson, which of the following is correct sequence of Sexual Response?
(A) Excitement

(B) Desire

(C) Plateau

(D} Orgasm

(E) Resolution

Choose the correct answer from the options given below :

et 3 AHEA & AW Fefafiga @ | =4 @ 319663 (Sexual Response) #1 Udl %0 87

(A) I

® T

(© WM (<)
D)  HHEgS
(E) EREILE]

fre feu o faeedi 4 9 | 3 %1 994 HIfea

1) AC.D.E
2y B.ADE
3) B.A.C.D

@ A B.C.D
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[Question ID = 3898][Question Description = Q82_Psychology_SHAAN_NOV21]

14

[Option ID = 15055]

2. 2

[Option ID = 15056]

i

[Option ID = 15057]

4. 4

[Option ID = 15058]

prepp
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83) Give the correct sequence of stages in the relationship maintenance as suggested by Thibaut and Kelly {(1959) in their

Social Exchange Theory :

(A) Bargaining

(B} Commitment

(C) Sampling

(D) Institutionalization

Choose the correct answer from the options given below :

fomie 3 Seft (1959) g 9% ity fafma & fagr 7 fgu T wey s 4 w0 % 9w

guIe |
(A)

(B)
(©)

(D)

fr= feu 7o fosredi O 9§ v 39 % =@ Fifd .

(L
)
(3
(4

[Question ID = 3899][Question Description = Q83_Psychology SHAAN_NOV21]

14

Hiehir
BITEECH
BIRGHE
I GER

A, C.BD
C.A,B.D
B.D,AC

C.B,D A

[Option ID = 15059]

Lok

[Option ID = 15060]

K2

[Option ID = 15061]

4. 4

[Option ID = 15062)

84) Give the sequence of Identity Formation in Adolescents,

(A) Consolidation
(B) Exploration

(C) Rapprochement
(D) Differentiation

Choose the correct answer from the options given below ;

(1)B, D, C, A



www.prepp.in

fepeivre § s wgaH fwfn (AR wnlsm) w1 srEwn St

A& ==l
(B)  3iduu
© yilE
D) favrem

el Tou e Tepeqi O § U@ ST 1 A i
(1) B.D.C.A
(2» D.B.A.C
(3) D.B,C A
(49 C.ABD
[Question ID = 3900][Question Description = Q84_Psychology_SHAAN_NOV21]

T

[Option ID = 15063]
2. 2

[Option ID = 15064]
3.3

[Option ID = 15065]
4. 4

[Option ID = 15066]

85) Arrange in a sequence the Stop-start Relapse Cycle of Internet Addiction :
(A) Regret

(B) Rationalization

(C) Relapse

(D} Abstinence

Choose the correct answer from the options given below ;

A g

B  Ffwrwr
(© e
(D) AfER

i feo e feredi © 8 W I o1 93 Fife .
(1) ADB.C
(2) B.A,D.C

3 DACGCB

pPrepp
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49 ABDC

[Question ID = 3901][Question Description = Q85_Psychology_SHAAN_NOV21]
< 0

[Option ID = 15067]
2. 2

[Option ID = 15068]
2

[Option ID = 15069]
4. 4

[Option ID = 15070]

86) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Assertion (A) : Chances of inheriting the dominant genes are twice in females as compared to males
Reason (R) : Females in comparison to males have two ‘X’ chromosomes

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= wem g 2 o A (A) & w9 A fafed 2 9 g0 36k HRU (B) % KO W

sfmem Q) : g@dl ) gern § afensdi 0 gam (SfER) ogEl % Fega f dwre @ T
al

F (R) yesi =t g  ofgenstt § @1 X o gh 2
IYIRE HYA o 3§, = fou o fasei O @ wed U IW T wEA Hife)

1) (A I @) I F A SR R). (A) H |E AR 2

@ (IR I wE & TR (R), (A) ) wE e 41 2
8 (@ ud 2|l ®) wd 7@ 2

€ (A) wel Tl 2 oiferq (R) well 21

[Question ID = 3902][ Question Description = Q86_Psychology SHAAN_NOV21]
1. 1

[Option ID = 15071]
2, 2

[Option ID = 15072]
3. 3

[Option ID = 15073]
4, 4

[Option ID = 15074]

87) Given below are two statements :

Statement (1) : Edwards Personality Preference Schedule (EPPS) uses forced choice format.

Statement (1) : The forced choice format is presumed to prevent socially desirable responding

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement (1) and Statement (1) are correct

(2) Both Statement (1) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

H< Q1 U fou e E - e sfeen (A) % w9 d faRed 2 Q) gu 36 0 (R) % ¥ H ¢

arfirseE M - vEEE TEHfed Wt T=rE (2 . . ve) § wReE =EE Ured o O BE 2
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AR (AD : SRS IR YEY F YA YrE: geiiye qifva geger T % T g 21

T HY FH 3T d, A fow e fassedi # @ wed svgw I W = Hifs)

(1)
)
(3

4)

sfiEpem (1) 3R QD A o 21

FwHeA (T) 3R (D) <A1 =2 @ 2

st (I) w1 7, <ifehd safiepem (I0) =&t 3 2
sifipa (1) w&) T 2, S A (D) w8 31

[Question ID = 3903][Question Description = Q87_Psychology_SHAAN_NOV21]

P |

[Option ID = 15075]

i

[Option ID = 15076]

30

[Option ID = 15077]

4, 4

[Option ID = 15078]

88) Given below are two statements : One is labelled as Assertion {(A) and the other is labelled as Reason (R) :

Assertion (A) : In fixed interval schedule of reinforcement behaviour is reinforced in a fixed time period.
Reason (R) : When students get feedback intermittently their level of performance increases

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A}

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= Q) weA fou o - o afimem (A) % w9 4 fafed 3 @ g0 38E FRO R)F A ¢

AN (A): e & RuiiE st gl § e ® Mgl sl § gEe S e f

&R (R) : SI" B & AHA-HHE W AFFH (Higds) T 2 2 91 3% e -Feare 1w

g I 3l

9 w2 % s 3, FR fow e fomedi @ | wed 9w 3w # wEA Hifs

(1)
(2)
3
@D

(A) 3 (R) TF1 T £ 3t R). (A A T = 2

(&) 3R R) I w1 3 &R R), (A) 1 121 saren & 2
(&) wEl 2 AfFT (R) Bl @ 2

(&) Tl 481 2 wife R) w8 2|

[Question ID = 3904][Question Description = Q88_Psychology SHAAN_NOV21]

14

[Option ID = 15079]

Lok

[Option ID = 15080]

K2

[Option ID = 15081]

4. 4

[Option ID = 15082]
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89) Given below are two statements : One is labelled as Assertion {(A) and the other is labelled as Reason (R) :

Assertion (A) : Cattell incorporated factors Qi, Q2, Qs and Q4 in 16 PF
Reason (R) : Some factors appeared only in L-data not in Q and T-data
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but {(R) is Mot the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

1= g e fou u 2 : we aified (&) % w9 A fafed R A qun 35 R R) S F9H

Al (A) : FA T Qu Q2. Qs I Q: TTH H 16 PF H wifra TFn |

F10 (R) : &S °H had L -Now 0 U T A, Q g T-y:<Hl H T
IHITh HYE & A H, {9 U T faewedi A | wed 3ug I & =S99 il

D) @ ARE®) I T E R R), (A) B W =R 2

@ () IRE®) I T 2 A R), (A) F G =mEn 7@ 2
@ (A Fd 2 Al ®) W 2

@ (&) wh T 2wl ®) w2

[Question ID = 3905][Question Description = Q89_Psychology SHAAN_NOV21]
1. 1

[Option ID = 15083]
2, 2

[Option ID = 15084]
3.3

[Option ID = 15085]
4, 4

[Option ID = 15086]

90) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :

Assertion (A) : Lewin asserted that avoidance - avoidance conflicts are relatively more stable

Reason (R) : Opposing forces tend to remain in a state of disequilibrium,

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A}

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

H9 § U fow o @« o srfisyR (A) & w9 fafed B o gaa 3e% s )% w9 H

APRBYA (A): G F SEYEF F3 T WER-IREREE goeas &9 3 e fBr 2

F (R) : fagia 3 sroqer 61 Faen #) 99 WEHE T8 8

IR HY & M@ °, frd fgu e fawedi d | 998 39w I H 99 i)

D (A IR A v E IR R), (A) FTE = )
@ (AR ®R) A T 2 A ®), (A) F W) =ve T8 )
3 (A) TE1 2 Sife R) o & R)
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4 (A) TE 78 2 Sfs (R) T 21

[Question ID = 3906][Question Description = Q90_Psychology SHAAN_NOV21]
P

Lk

3.3

4, 4

1

[Option ID = 15087]

[Option ID = 15088]

[Option ID = 15089]

[Option ID = 15090]

prepp
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Topic:- Psychology B

1)

Read the following paragraph and answer the five questions that follow :

A psychologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 guestions trying to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed in two ways — carrying
out 1tem-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Ptz as high scorers. (Assume that P27 and
Ps;z: had non-fractional, 1e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was adininistered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. .947, and the test was quite long. she decided to develop the two parallel
forms. each of 45 items. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form, she assessed average inter-item correlation, mean,
standard deviation and Cronbach alpha. The two forms satisfied the criteria for parallel
forms.

1= S 1 9E v = e e % I 4)

wh S v ve, ve, H, freafE F fee sERA wa war oftar & e 21 3R v i
i fafim & & weafm 120 999 &0 9eiies w9 % Wiw I ey fou R @ v gt = whiaor &
urEy geRm w200 frenfd % e wleest ax fean wem) vl & i @ 1w & Taweno fn emy
Tk

ug-Tihl g WIEHAFY AYl gE U faudiem gEwiel 1e-Fridie gaEee W e % fou 3w
.27 7 = el w9 e s oy . 73 8 S e w3 arerrs Taedt (6 27 aen dh 78
F ey ol wen 1 @)1 Bl gamis ) wiferh aedw w fadon Ben v seaa: g2 fodigo §
90 we v ey fier zg 73 e 6 ¥ 400 FraPri &% wieedl o wanfaa fen e weRe wewr |
favhor fem weg 3ad 7z oft d@en B wflem i %, aw. favamdaa A o @ 6 T wnife wEas
Tohl HIh 3 047 o1 w wlia Skl oy 8 9 394 wlem § g NEa WEY dan i o o
form, formd v 4 45 7z 31 wew A 5t B # 9%ioa ®9 8 45-45 #¢ @] Yo WeY & fog I
Fitgd s wggea-y, nee, TR e aw wEs vew $ e i ) 96l med T waene
WRRY o SYREE WEve Wre TR

Item | was passed by 30 subjects in Low scoring group and by 56 subjects in High scoring group. What would be the
discrimination index for item I?

(1)
(3)

o ors wgg A 30 fasfEi A v we w R qen 3w wgg 1 56 fawfiel 3 am e 3@ snuR

0.241 (2) 0.481
0.556 (4) 0.796

W ag 4. I %1 fasidist geais 1 gme?

(1) 0.241 (2) 0481
(3) 0.566 (4) 0.796

[Question ID = 3907][Question Description = Q91_Psychology_SHAAN_NOV21]
1.

1

[Option ID = 15091]
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| 2. 2

[Option ID = 15092]

3.3

[Option ID = 15093]

4, 4

[Option ID = 15094]

2)

Which one of the following test can be used for evaluating statistical significance of the discrimination index?

(1)
(3)

fersiciertul F=epier &l WIfEATRy Meehdl B & Tore f= wligon 3§ § fopest 3w fohan s wepdn 27

Read the following paragraph and answer the five questions that follow :

A psychologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 guestions frying to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed in two ways — carrying
out 1tem-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Pz as high scorers. (Assume that P27 and
Psz had non-fractional, 1e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was adininistered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel
forms. each of 45 items. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form, she assessed average inter-item correlation, mean,
standard deviation and Cronbach alpha. The two forms satisfied the criteria for parallel
forms.

1= S w1 9 vE = um v % 3w 4)

wh it va. ve, v, o, fRrend 6 foo sERh v war wham wen Srgar 21 3EA W W
i fafim & & wafm 120 999 S0 9 w99 % e I ey foo R @ we gd o whiam
ey ges #5200 frafdl & wr wlhed w e man wliaw % wel w1 & wen @ faveror fE
T

ug-hl Wg HWIEgHA-Y A g0 W faidiem gEwiel ue-faide gawiE W 5 % fou 3w
.27 A = T =9 e s o . 73 8 I e w3 arers Tawet (6 27 aen dh 78
¥ yen gl gen 1 @)1 i gt ) aif@ed qredw w0 Rt B o s wg Rredga §
00 we v ey fie zg 73w W ¥ 400 FaPrai % wieesl o wanfaa fen e wEERe wewr |
faufor fean g 3o ag oft den B wfiem i %, o favawsiaa € e 6 oS wifs weds
Tl FI%1 3 047 o1 a1 Tav H6l e 2 9 394 1@ % g AuEal TEY dIn i w6 Ao
ferm, ford v 4 45 7z 871 WE9 A 5t B o 9%iod ®9 8 45-46 #E | e eY & fag s
Ftad S-T0e WEEeEY, BT, WAE faeem aw wEEs vew it v o) S TR ST
WREY 6 HIMREE WEve wg R

Chi-square test {(2) ttest
F test (4) Mann-Whitney U test

(1) . YR @ A

(3) UH. gfiam 4) TR =Hied g e

[Question ID = 3908][Question Description = Q92_Psychology SHAAN_NOV21]

P |

[Option ID = 15095]

i

[Option ID = 15096]

30

[Option ID = 15097]

4, 4

[Option ID = 15098]

3)

Read the following paragraph and answer the five questions that follow :

A psychologist was interested in developing English Language Usage test for HSSC
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stadents. ishe wrote 12U guestions IIylng 1o cover several areas of the language usage. ach
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed in two ways — carrying
out tem-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Pz as high scorers. (Assume that P27 and
P:z: had non-ractional, 1e. full integer wvalues). The statistical sigmificance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was adininistered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long, she decided to develop the two parallel
forms. each of 45 items. She randomly assigned the items to two halves, labelling them as
Form A and Form B. For each Form, she assessed average inter-item correlation, mean,
standard deviation and Cronbach alpha. The two forms satisfied the cniteria for parallel
forms.

= s %1 9E 19 = I 9 #5361

vk et va. ve, e, o RrendE 6 fae R w war whao wen Srear 21 3R W wem
i fafirm &= § wafm 120 w99 99 wes wea 3 uie I Freen fen Rt 8 s gl 9 wham &
ey geRm #l 200 frend & e wlaest ax fean wem) vl & el @ 1 wan & faweno fE emy
Tk

UE-h] WG WA a1 gRU WE faidiemm gEwiel ue-faidem gEwis W 5 % fou 3w
.27 7 = @ w91 e s oy . 73 8 3w e w3 arers et (6. 27 aen dl. 78
F yey ¢l den 1 )1 B guewis ) wiferh wedw w fadon B v seaa: ve freigo 3§
90 we v ey fir za 73 e B ¥ 400 Frafri % gleesl o wanfaa fen e Wk wewr |
favhor fem weg 3ad g oft d@en 6 witem B %, e favaedaa @ f siw B S wifE FERw
Tl F%1 3 047 1w e bl v 2 9 394 1@ & g AuFal OEY a3l i 6l Ao
ferm, fomd wer § 45 Wy §1 wew A silt B # awfoa ®9 § 4545 dg W@ wew wev # fg I
Fad -0 WEEeEY, nUIE, UHE faen aw wREs wew it v o) SF1 TR ST
WRRY o SRR HFEe Wre TR

What is the expected Cronbach alpha for the Form A?

(1) 474 (2) .899
(3) 913 (4)  .947
YT A 61 GO shiFee TEHT @91 B 7
(1) 474 (2) .899
(3) 913 (4) .947

[Question ID = 3909][Question Description = Q93_Psychology_SHAAN_NOV21]

1. 1

[Option ID = 15099]

i

[Option ID = 15100]

i

[Option ID = 15101]

4, 4

[Option ID = 15102]

4)

Read the following paragraph and answer the five questions that follow :

A psychologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 guestions frying to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed in two ways — carrying
out 1tem-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Pz as high scorers. (Assume that P27 and
Psz had non-fractional, 1e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was adininistered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel

e
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Give below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :

In the light of the above statements, choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

AL ALLD. WAIL WL EYF IVTLIID WIIT :auul.rmx_:r ﬂﬂﬁlﬁuﬁu LILT IVCILID LW LYV ILALYGD. Lﬂwull‘l& LLETILAL D
Form A and Form B. For each Form, she assessed average inter-item correlation, mean,
standard deviation and Cronbach alpha. The two forms satisfied the criteria for parallel
forms.

= s %1 9E 18 I 9 #1361

wh et va. ve, v, o R 6 fae SRR vy war wham wn Srgar 21 39R W wem
3 ffra 41§ wafEm 120 w9 a9 98w & wie I Rrees fou Redl @ s wdl am afiam &
ey ges % 200 frafdl & vw wlhed o fean man e % wel w0 @ wewn @ Faveror fE
T

Te-aFhl g HIEHA-Y a1 80 ue faddiem gewinl ue-faidem gasrs uW wH % fan s
.27 A = @l w9 e s o . 73 3 S e w3 s et (6 27 aen . 78
¥ yen gl gen 1 @)1 i guwts ) aif@ed qedwa w0 faton B o s 3g Rredga §
90 we v ey fier zg 73 e 6 ¥ 400 FaaPrai &% wieesl o wanfaa fen e weeke wew |
favlor fem weg 3ed 7z ot d@en B wflem i %, s favaedaa A of @ 6 e wnife weas
Tohl HIh 3 947 o1 wn wlia Skl oA 8 9 394 wlen $ g aNEal WEY dan i o fant
ferm, formd w4 45 Wy FM1 wEw A silt B # awgfod ®9 § 45-45 A W@ v Wev * fg I
Fad 3TN WEEeEY, BUE, WA fawen aw wEas vew it v o) S IR W
WRRY 6 SR HEve Wre TR
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Assertion (A) : It is not possible to compute K-R reliability for the above test, since each item has five

alternatives

Reason (R) : K-R reliability can be computed, when the items can be dichotomously scored

Both (A) and (R) are correct and (R) is the correct explanation of {A)
Both (A) and (R) are correct but (R) is Not the correct explanation of (A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

2 g wua g e € ;s srfysem (A) % =9 ¥ fiflad B 9 gau sE% oo @) 6 w9 A

AR (A) ; 00w gliew U k. AR, Tavawdima & 9ias anE T8 SE I9E e & 91"
faeg 2
F1 (R) : %, A0, Tavasaal saa a9 € giefcua $i 5 odl @ 99 91 & AFA §) AhI §

foran st B

I9UeR YA % IS 0, A fu e fawedl A w99 ST IW W1 R i)

O (A M@ I T F R R). (A) T = R

@ (A @) SH 2 Al R), Q) F wd srEn w1 2
@) (A% 2 e ®) w74 2

@ (A Ed T 2 dfe B) 78 3

[Question ID = 3910][Question Description = Q94_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15103]

2. 2

[Option ID = 15104]

3 3

[Option ID = 15105]

4, 4

[Option ID = 15106]

3)

Read the following paragraph and answer the five questions that follow :

A psychologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 guestions trying to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed in two ways — carrying
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VUL AVTIMATLUGALIMTE VUL TIALALL GAG WSULLLLGIAIVE LIIUTA AL TAGL AVSIL A UL LT pULUST U
computing item discrimination index, she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Ptz as high scorers. (Assume that P27 and
Psz: had non-fractional, 1.e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was adiministered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel
forms. each of 45 items. She randomly assigned the items to two halves, labelling them as
Form A and Form B. For each Form, she assessed average inter-item correlation, mean,
standard deviation and Cronbach alpha. The two formms satisfied the criteria for parallel
forms.

= s %1 9E 18 S I 9 3 61

wh s v vg, vm, W, frenfia % foe aERR wo wdrr wfao e Srear 21 R v i
i fafirm &= © wafRm 120 wea 590 9 wod & viw 39 frmew fen e o ws ol o wfiaw 5

ar&n gepm 5 200 frefdEl o uw wlred w fean man) wligw % 98 w0 € wwn @ fager fen eng
T

He-4ihl He HIEHA Ayl guu 4 faicie guwinl 9e-fridie gaeie W e@ % fau e
.27 | 9 g@ = Foa st g . 73 3 SwoFrE w39 s faedt (o 27 sen dh. 78
¥ yen gfl gen 1 21 e gt ) wift@reh welwa w0 Ruton R o s wg e §

00 e v oy frr w7 g W 1) 400 faefrai % gfeesl o wenfaa fen v Eece ww |

favhor foem weg 3ad 3z oft den B wfiem i %, aw favgadaa A o @ 6 T it weas
UeHl HIH 3= 947 o e sl Hihl e 2 a9l 394 wdE % g anea e dem i el o
form, fomm acies 4 45 5 071 reT A 3 B aigfen €9 8 45-45 9g W T=E 969 * fa s

sitae seiue wEgesy, wegae, uEE fogam aw wREs wewm i orvrn S ) 6 w3 waensr

WRRY 6 SYRIE HEve Wre TR
For computing inter-item correlations, which one of the following is suitable?
(1) Point biserial correlation (2) Biserial correlation

(3) Rank difference correlation (4) Phi-coefficient

F=dirg Hg-weay <l o & fere T 4 | wta T 39w 27

(1) @R TE-ditee gg-weey @) wE-dites aa-umEey
(3)  HR] HA~A GgEEY (4) HIE-TEEE TN

[Question ID = 3911][Question Description = Q95_Psychology SHAAN_NOV21]
1. 1

[Option ID = 15107]
2, 2

[Option ID = 15108]
35

[Option ID = 15109]
4, 4

[Option ID = 15110]

prepp

Your Personal Exams Guide

Topic:- Psychology C

1)
Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of seral learning. The second hypothesis proposed
that the type of matermal (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low.
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The hist of 15 CVC trgrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meammngful material. The number of trials required to learn the lhist was the
dependent variable. The data were analysed by suitable analysis of wvarliance.
Following are the selected findings.

1. The ratio of largest to smallest standard dewviations for the six groups was reasonably
close to one

B Tha darsnnn af Pancdares fau Aasmnn srawsnman mees 12K
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3. The F ratio for the effect of stress was 0.95.

4. The effect sizes for each effect were calculated both by obtaining eta square and partial
ela square.

Pretferfia Semms ) wfen i ) R o v wei % ger AR

e wratfires oardsnfres @ aftesonst s viem s 9@a 9) vl aimern § veafaa on fs zara =
i atfm &t @ we wfvgpe wra wSm gah wiepewn d wearfaa e 6 wmwht @1 wer (Feels g m
wYes) ¥ <9E H1 Y9G afad g 39 o 3 gama (A) w dF T W (=E, nem it o 3=)
3 wmft R 9FER (B) F Y W W AL dig FEF 9 WY 24 Infes feeft 1 @ yass saftwbl @
gt &0 3 9 Wl # gafee fr e 15 defed g A e § s o s 1s St
T yegl h g 0w aenf it o gE s shrm F fow sifae fammm B @en (wew)
FTim afEd oty v @ fawen w39 ey g e e gafa Feed frafafea 2

1. =2 uggi & o ggw 8 agan o faeem #1 oW v & 3fe arde F o

2. IR v < feru wman 6 dim 135 o

3. TEM % WA F Ty, FAIIE 0.95 1|

4, U 99 & foru yuma s = uiteem ger =l 3 Sl ger =t <M wie s e

The above design can best be labelled as :

(1) Randomized 3 x 2 balanced factorial design

(2) Randomized 3 x 2 balanced factorial design with a covariate
(3) Randomized 3 x 2 unbalanced factorial design

(4) Randomized block design

39 atftrey St weltan swven fFimfafee 4 9 fea wu 0 it o godt 27

(D

(2)

(3)
4

Trefees 3 X 2 H@qfera s arfeed
Tl TR 3 X 2 dqfed He e

Tfeas 3 X 2 IrEgfem FrE HAiEey
aEfese @ sfiwey

[Question ID = 3912][Question Description = Q96_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15111]

2.2

[Option ID = 15112]

ik

[Option ID = 15113]

4. 4

[Option ID = 15114]

2)

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low,
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three.lettered meaningful words

constituted meamingful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of variance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135

3 Mha I matrn frm tho affond A ofwoons wena 8 OR
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4, The effect sizes for each effect were calculated both by obtaining eta square and partial
efa square.

freaferfiga Tavs =1 ufee ok = oo mo = vl & I G -

wF e wEamie @ aireriasd &1 wiie wEn Jwa o) uEe) wherern 8 wenfs on B emm
wius sifom 6 @ W wfags wre g2mi ufEer § wiartaa on % gl @1 weer (el 39w
W) 9 ga| %1 99E wafa g 3a 84 q ZEE (A) H FF Wl W (FA, 1ol d i 3)
IR gl i TwER (B) F Q) W W A 9 6k B g a9 el feft ¥ @ wirew safwEt
TRfea® €9 4 F aug 4 guIfey FR e 15 @i geam 6 g 8 ks gl o o 165 Fraft
e vredl B g U s wmdf it o g % slirm ¥ R snifae frerm o den (wew)
i afEs oft) s ved w1 favemm yew % Iuyws e g R e wafia fesd fefafea 2

1. @2 wigi & fom gge € orgam wis faaem &1 sem v % 3fm unfren 4 am

2. IR wEw % feaw wEmen €1 Hm 135 o

3. €™ Y1d % Tl F3qu@ 0.95 =

4, U 99 + e yura s = uiteem ger = 3 Al ger = <Ml wiH s e e

The above data indicates :

(1) that the assumption of homogeneity of variance is satisfied

(2) that the assumption of homogeneity of variance is not satisfied

(3) the absence of information related to the assumption of homogeneity of variance
(4) the formal test of homogeneity of variance needs to be carried out

IR 39 (Ye:8) W YAl 9 2

(L
2
(3)
(4)

Tor wreror st wsirdTEar 61 yearon gff gd 2

o5 wrerol 1 aasrETEaT 61 gEaron gft =l g2 2

for o it w6t gduron | HeftE gE 39wy J= Bt 2
fo samor it Tl @ sfoarfes vl R s safih 2

[Question ID = 3913][Question Description = Q97_Psychology SHAAN_NOV21]

1.

4,

3)

1

[Option ID = 15115]
2. 2

[Option ID = 15116]
e

[Option ID = 15117]

4

[Option ID = 15118]

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low.
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three.lettered meaningful words
constituted meamingful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by switable analysis of variance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135

3. The F ratio for the effect of stress was 0.95.

4, The effect sizes for each effect were calculated both by obtaining eta square and partial

afrr annara
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freaferfiga s =) ufee ok = oo no v vl & I G

wF e wEawfe @ aimersd w1 afie sen S o) uEe) wherern 8 wenfm o B emm
wius aifom 61 @ W wfage v v2mi uf@Ee 4 wiArtaa o % anefl o1 weer (i a9
W) 9 TR H 99E AT 211 39 14Kk qaaﬁ{A)ﬁ?ﬁqmﬁm{:qa,nmaﬂtaﬁtﬁ}
ﬁmﬁm@)ﬁawﬁmmmma e =R e freelt ¥ @ wiy s o
mmaaw W grgfes o ) 15 AR Zeam ) g O R amoft o o 15 ity
s W f gt 9 wmeds wmef mitm oA g % afiem % fau snifae feror ) d@en (we)
anim wfte oftl wm ve:n W Rz yew 3 g e g fe e gafa freed freafafea 2

1. @2 wEi & for gge € orgam wre fawem 1 sem v % 3fm unfre 4 am)

2. R T & feaw Emen €1 Hm 135 o

3. €aE % Y % Tl F 9@ 0.95 =

4, UcIs 99 % foru yuma s = yitemem ger = 3 Al ger = <M wH s e

The above results indicate that :

(1) the first hypothesis is verified

(2) the first hypothesis is rejected

(3) the first hypothesis is partially verified

(4) the inadequate information for evaluating the first hypothesis

9 Wil | a1 g 8 T
(1)  ugefl afwmegsr wenfia 2
@  vEeh ufeserr arefiga 2
(8) 9Bl uftehegar Jfie 9 & gonidd 2

@

ggefl uRehedat & geaiad & e sr9ain s 2

[Question ID = 3914][Question Description = Q98_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15119]

2. 2

[Option ID = 15120]

£

[Option ID = 15121]

4, 4

[Option ID = 15122]

4)

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low.
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three.lettered meaningful words

constituted meaningful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of variance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135

3. The F ratio for the effect of stress was 0.95.

4, The effect sizes for each effect were calculated both by obtaining eta square and partial
efa square.

freaferfiga s =1 ufee ok = oo mo v vl & I G -

e Teres TR # oheesrTedt w oftarm o =res o mesf it o mooBm s Be wama
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wius sifom £ @ W wfags v g2 ufEmer § wartaa o T anefl 1 weer (el 39w
Wefeh) 9 ga| %1 9@ TEfaa 2 39 5163 qaaﬁ{A)ﬁ?ﬁqmﬁm(:qa,nmamﬁﬁ)
ﬁmﬁm@)@awﬁmmmma e =) e ferealt ¥ @ wirey sl o
AT €9 4w gl A wugfee FR v 15 i geam B g 8 Fades gl i el 16 e
wds e H gt W weds e mitm o) g % afem ¥ fau sifae fero ) den (we)
FrieE ufes oty ved i favem yew % Iuyws e g R e wafia fesd fefafea 2

1. o2 wgi & for gge € oigan wie fawem &1 sem s % 3f anfren 4 am)

2. IR R &% feaw Emen €1 Hm 135 o

3. TAE % WAE % felw F g 0.95 «m

4, UcIs 99 % foru yuma s = iteem ger = 3 Sl ger = <M wiH s e

Which one of the following F ratio would be used to evaluate second hypothesis?

(1) F = MSa/MSE

(2) F = MSg/MSg

(3) F = MSy x p/MSE

(4) F = MSa /(M54 xp + MSg)

&l ufewesn & geaien o foe feafafen § 9 faa Famaa = wam T smam?

F = MS./MSE (2) F=MSeg/MSe
F=MSaxs/MSe (49 F=MSa/MSsxs+ MSg)

[Question ID = 3915][Question Description = Q99_Psychology SHAAN_NOV21]

g

3)

[Option ID = 15123]

[Option ID = 15124]

[Option ID = 15125]

[Option ID = 15126]

Read the following paragraph and answer the five questions that follow :

An expermental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of seral learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low,
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three.lettered meaningful words

constituted meaningful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of variance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135
3. The F ratio for the effect of stress was 0.95.

4, The effect sizes for each effect were calculated both by obtaining eta square and partial
efa square.

freaferfiga s =1 ufee ok = oo mo v vl & I G -

wF e wEawie @ aierersi & wfie sEn Jwa 9 uEe whesern § wenfm on B emm
whrw fm &t @ o wfage W w2 uf@er § wiartaa on T gl @1 v (el a9m
WAH) 9 TqE H 99E AT 2o 39 0T qaaﬁ{A)ﬁ?ﬁqmﬂm(:qa,nmammﬁ)
aﬁmmﬁm@)ﬁawﬁmmmmﬁ e | e et ¥ @ wiry s o
mmﬁ'ﬁ W grAfee famn man 15 S grgam 6 gt 6 Frddes goalt o ot 15 it
mws@aﬁqzﬂnmmmaﬁwfﬂa%ﬁmﬁrmmfﬁm%fmmﬁﬁmﬁmt (%)
anriz uited ot w9 weww W fawc wew % 39y Rreem g fen T w3t freed freafafea 2
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1. B2 gl ¥ fore gge @ ogem o feem 1 s v 3 3R arde o
2. IR U &% feaw TmEmen €1 Hm 135 o

3. gad % Y % Tl F U@ 0.95 =
4,  Wcds 9aid + fore yaE s = giwmem gz = 3R Sl ger = < Wi s T T

The above findings indicate that the post-hoc comparisons are :
(1) Necessary for the effect of stress
(2) Necessary for the effect of type of material

(3) Necessary both for the effect of stress and type of material

(4) Neither necessary for the effect of stress nor the type of material

g aftormi | v o @ fe sraed gEATeE s1eEA

(1) <@ & ¥9E % fou smavas 2
(2)  #fl % YR % g9E & fau sy 2

(3) <EF % g™ T Al YR el & fom ey 3

(4) T I F e & o A & wmlh &% aen & fae v 2

[Question ID = 3916][Question Description = Q100_Psychology_SHAAN_NOV21]

1. 1

[Option ID = 15127]
2. 2

[Option ID = 15128]
Al

[Option ID = 15129]
4, 4

[Option ID = 15130]
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Topic:- GP_Set3_A

1

The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl Services Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

it & 1€ arforest d A 2014 @ 2019 % A OR wwy K. L, M st N o fafae gan wdian 4 i
eare sl (A) stk alden 3 st sl (P) R dem & siwe fag ¥ el B amEm wE

T I AT .

Year-wise Number of Candidates from Different Cities

City > | K L M N
st AlPlAa|P|lAa|P| AP
\’

2014 782 | 360 | 612 | 310 [ 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780
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2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What 1s the difference between the total candidates who appeared and total candidates who
passed from City K 1n all the six years together?

(1) 2060 (2 2070
(3) 2080 (4) 2090

~or = T

oofl 37 9w % W W K ¥ vlen A4 e srae =i f 3o @ o g8 4 S gea
A $i e Ton ® ofm ™ SR Gha 27

(1) 2060 (2) 2070
(3) 2080 (4) 2090

[Question ID = 4117][Question Description = Q01_GP_21NOV_51_SHAAN]

1
2
3.
4

2)

. 1 [Option ID = 15931]
. 2 [Option ID = 15932]

3 [Option ID = 15933]

. 4 [Option ID = 15934]

The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl SBervices Examintion from four cities K, L., M and N during the year 2014 to 2019. In
accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

f=t &t 2 arferem d a9 2014 & 2019 % A = wgd K, L, M 3t N o fafae gan wdian 4 wnfas
eare sl (A) stk alen 3 st st (P) R den & wiwe e ¥ el % sHER W
w1 I A

TR —> K L M N
o AlPlalP|Aal|lP| A|P
\)

2014 782 | 860 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 [ 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
N1 R O 4 enas |l oanl nae | 710 Ay d 1a0on l 70
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What is the average number of candidates passed from all the four cities in the year 2015?

(1)
(3

528
530

LN - AT

L e 4 Ly

TELTX

A L L

2019

850 | 496

g00 | 315

740

464

1165

780

(2) 529
(4) 531

a4 2015 % ERA Bt 9R ol @ Sl gHE st fi sitem g fea 27

(1)
3

528
530

2y 529
(49) b3l

[Question ID = 4118][Question Description = Q02_GP_21NOV_51_SHAAN]

oW R

3)

For which of the following cities the percentage of candidate passed among those who

1 [Option ID = 15935]
2 [Optien ID = 15936]
3 [Option ID = 15937]
4 [Option ID = 15938

The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl SBervices Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

fret & 12 et d a9 2014 ® 2019 % <A uR ey K, L, M et N o fafasr ger wden A wnfie
eare sl (A) stk alden 3 st sl (P) R dem & siwe fag ¥ el B amEm WA

T I AT .

Year-wise Number of Candidates from Different Cities
City — K L M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

fafim mzd & st 6t afar @en

e —> K I M N
it A|P|A|P|A|P]| A |P
¥

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

appeared for the examination 18 minimum in the year 20197

(1)

Fi )Y

K

LE 3

(2) L

S T
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Ly VL LE Ly

ad 2010 ¥ fy=fefiza 3 o Fra o @ vl § wfter BaTe sreBial § @ 59wl A s Sam
sreafiat i e it i e 2 7

(1) K (2) L
3 M 4 N

[Question ID = 4119][Question Description = Q03_GP_21NOV_51_SHAAN]
. 1 [Option ID = 15939]
2 [Optien ID = 15940]
3 [Option ID = 15941]
4 [Option ID = 15942]

B R

4)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
i Civl Services Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City — K E M N
Year AlP|A|P|A|P A P

\’

2014 182 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 [ 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

f=t &t € arferem d a9 2014 & 2019 % <A =R wgd K, L. M 3t N o fafas gan wdian 4 wnfas
Tiae sttt (A) st aden 3 sivt sl (P) f dom & sree faw o ¥ arfere % sER 9w

% I ST
fafim m=g @ st 6t afar =

T —> K L M N
Bras AlPla|lP|Al|lP| A |P
¥

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What is the percentage rise in the number of candidates who passed from City K from year
2017 to vear 20187

1) 32% @) 36%
(3)  40% (4 44%

el K ° 99 2018 © Idiol sreafdai =6 oo a5 9 a9 2017 6@l syt i gen 4 feaan witwa
T 27

(D 32% (2) B86%
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(3) 40%

4) 44%

[Question ID = 4120][Question Description = Q04_GP_21NOV_S1_SHAAN]

1. 1 [Option ID = 15943]
2. 2 [Option ID = 15944]
3. 3 [Option ID = 15945]
4. 4 [Option ID = 15946]

3)

The table below embodies data on the number of candidates who appeared (A) and passed (P)
1 Civl SBervices Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table, answer the question

=t €t 7 arforer A ad 2014 @ 2019 % A =R wEd K. L, M @it N o G den wdian 4 wnfie
eare sl (A) stk alen 3 st st (P) R den & e g ¥ el % sHER W

Eolcrd [ L

The total number of candidates who passed from City M in all the six years together i1s what
percentage (%) of the total candidates who appeared from City M in all the six years

together?
(1) 56%
(3) 60%

wefi 37 a9 % N wR M ® Sl BR A srAiiEl f o wem 3 v 3% a9 % e w M 3§

Year-wise Number of Candidates from Different Cities

City > | K C M N
Year AlP|A|P|A|P| AP
\

2014 782 | 360 | 612 | 310 [ 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

R —> K L M N
& A|P|A|P|A|P]| A|P
NS
2014 782 | 8360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 [ 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

(2) 58%
4  62%

qlien ® 9P & a sl A F wen i e wfawa 27

1)  56%
(3)  60%

) 58%
4) 62%

[Question ID = 4121][Question Description = Q05_GP_21NOV_S1_SHAAN]

| 1. 1 [Option ID = 15947]
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| 2. 2 [Option ID = 15948]
3. 3 [Option ID = 15949]
4. 4 [Option ID = 15950]
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Topic:- GP_Set3_B

1) Which theory of learning supports reflective level of teaching?
(1) Theory of conditioning (2) Reinforcemet theory
(3) Need-reduction theory (4) Cognitive field theory

STRETT W1 HA-w g e % T T W aEeA wa 22

(1)  ogsa = fagm (2) e fogia
(3)  srEgERal-~Hiwwn figia (4) wImHE-27 fige

[Question ID = 4122][Question Description = Q06_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 15951]
2 [Option ID = 15952]
3 [Option ID = 15953]
4 [Option ID = 15954]

P bl D —

2) Identify the characteristics of field-dependent learners from the following?

(A) Perceives global aspects of concepts and materials
(B)  Focuses on facts and principles

(C) Prefers to work alone

(D) Seeks guidance and demonstration from teacher

(E)  Likes to cooperate

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only
(2)  (A). (D) and (E) only
(3 (B). (C) and (D) only
(4) (). (D) and (E) only

frtafoa 4 = Fros-aniim aftrm =i =1 e $i ve=m fifse -
(A) STEURONSAT T Foewged & dfTas Tegett H gEs

B) @A TR fagidl | s a1 &

(C) 3Tkl S A1 GHG el 2

D) T @ fenfiem ok v 1 =i W 2

(E) A 1 96E %l 2

1 v T Geat § © TR ST 1 99 i

()  F= (4), B) 3 (C)
2 w4 (A), (D) ¥R (E)
3 w|a ®), (C) ¥R (D)
@ e (C), (D) 3R (E)

[Question ID = 4123][Question Description = Q07_GP_21NOV_S1_SHAAN]
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oW

3)

Matech List I with List IT
Last I Last IT
(Levels of teaching and learning) (Main feature)

(A) Autonomous development level (I) It is problem-centred and requires on
the part of learners more active
participation, more Imagination and
creativeness

(B) Memory level (II) Lays stress on the importance of
students” feelings and minimizes the
value of hard thinking.

(C) Understanding level (III) It 1s comparatively thoughtless.

(D) Reflective level avy It emphasizes on  seeing
relationships between principles and
solitary facts.

Choose the correct answer from the options given below :
(1) (A)-(D. (B)-dI). (C)-(III). (D)-AV)
(2) (A)-(I00), (B)-AV), (C)-(D), (D)-(IT)
(3) (A)-(ID). (B)-AII), (C)-AV), (D)-(I)
(4) (A)-(IV), (B)-(D, (C)-AD), (D)-(11I)
g=fi-1 % e ge-11 = frem ifs
g1 il
freror o7 arferm & TR g fammang
(A) T e =R () 4% 99&d ®id 5 & 9 sa8 st
$H omgmda afum wfe el wfte
HeqA] R ForEfierar i s gl B
(B) 0 (ID) =g ferenf=t hi et & vged 9 g 2d1
T 3 3T A= uged =i %H T 2
(C) EEY &R (I11) 7z goTere &9 ¥ foamdia g 2
(D) s W) (IV) =z fagmal oI wwrehl Az & o9 g9y =i

= fom o fommed! 8§ @ o} o9 @ e Hifew

(L)
(2)
(3)
@

. 1 [Option ID = 15955]

2 [Option ID = 15956]
3 [Option ID = 15957]
. 4 [Option ID = 15958]

(A)-@). (B)-AD). (C)-(ID). (D)-(IV)
(A)-(I1I), (B)-AV). (C)-(D), (D)-AD)
(A)-(D). (B)-(IID), (C)-AV), (D)D)
(A)-AV). (B)-(D). (C)-d), (D)-II)

3G T wS < 2|

[Question ID = 4124][Question Description = Q08_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 15959]
2. 2 [Optien ID = 15960]
3. 3 [Optien ID = 15961]
4. 4 [Option ID = 15962]

4)

Given below are two statements :

Statement I :

Statement I1 :

Knowledge, comprehension and application levels in Bloom's taxonomy

belong to the higher level of cognitive learning.

outcomes.

Organization and characterization belong to higher level of affective

prepp
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In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 15 correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement I is correct.
et 2 o feg e €
%9 (D) : =@ H AR (FFEEE) § OgE, SEEY IR SATEN W SRS A % S=
R "9uia 3
9 (ID) : SEYT ST MG ST RO % 39 &R 4 Geia 8

IQE A % A H, F19 g e faeredl § o gag 3w s w wEe i

1) FoR (1) 3R (ID) 3t T8t &
@ = (1) 3 (1) I T B
(3)  wuE (1) ud 2, SRR w9 (IT) e 2

(4)  =E () T 2, ST %y (1D 96 2

[Question ID = 4125][Question Description = Q09_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 15%63]
2. 2 [Option ID = 15964]
3. 3 [Option ID = 15965]
4. 4 [Option ID = 15966]

3) Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R.
Assertion (A):  Formative assessment is process linked and directed at raising motivation
and engagement levels in learning.
Reasons (R) : The purpose of formative assessment 1s to improve quality of learning

outcomes.

In the light of the above statements. Choose the most appropriate answer from the options
given below :

(D Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
3 (A) 1s correct but (R) 1s not correct,

{4) (A) 15 not correct but (R) is correct.

o o g e E : oF aifiEuE (Assertion A) ¥ W i fafam ® 91 30 39H FRW (Reason R) &

w9 E

SARTRAA (A) iR 3ReE 9RO st § greiRig 2 oii 3ud vwn ofR @Y wl @t
sar 4 FRflm g 21

=R (R) Fratonens s 1 wEeA sfirmy aftonat St e # gam e 2|

IURE FAI % AEE °, A o T famest § ¥ G99 SUTE S 99T iR

(1) (A) 3R (R) 2F1 W& 3 (R), (A) H 7t 7@ 3
(2) (A3 (R) 2 G E, S R). (A) i @ s T 8
(3 (AT, ® ud & 2
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(4)

(A) T 78 &, wifet (R) o=t 2

[Question ID = 4126][Question Description = Q10_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 15967]
2. 2 [Optien ID = 15968]
3. 3 [Optien ID = 15969]
4. 4 [Option ID = 15970]

6) Creating purpose statements. research questions and hypotheses that are narrow and
measurable would mark the characteristic features of which research type?

(1) Narrative research (2) Ethnographic research
(3) Grounded theory research (4) Experimental research
TS HE, WY e i 9t A gfeer Qe e eafatigg d A e wia wer Hi
oo 27
(1) faeomers qg 2) T WY
(3)  omenice fagiame (4) TS Ty

[Question ID = 4127][Question Description = Q11_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 15%71]
2. 2 [Option ID = 15972]
3. 3 [Option ID = 15%73]
4. 4 [Option ID = 15974)

7) In ‘two groups, randomized subjects post test only’ research design which of the following

may be the source for jeopardizing validity?

(&)
(B)
(C)
(D)
(E)

Pretesting procedures

Measuring instruments

Interaction of selection and the independent variable
Reactive experimental procedures

Statistical regression

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(&) and (B) only
(B) and (C) only
(C) and (D) only
(D) and (E) only

3 grel o AfeEEa TSl T Ee e, TaT a iy AfiEed & siara e B & e ok Al
= ¥ ¥ Frafafea § 9 F9-9 |9 w0 59 87

&)
(B)
(©)
(D)

(E)

PCRiGERER)

U =

9 317 T9T T % g AT G
tafremsita wmess gl
AETHE THTE0

Ira T2 o fwedl 4 © UE SO E 999 iR

(L
(2)
(3)

shelel (4) 3 (B)
Fae (B) 21 (C)
Faa (C) 31 (D)

=5
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b

A (V) AW (k)

[Question ID = 4128][Question Description = Q12_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15975]
2. 2 [Option ID = 15976]
3. 3 [Option ID = 15977]
4. 4 [Option ID = 15978]

®) Match List I with List II
List I Last IT
Research Steps Main features
(A) Defining a research problem ()  Appropriate statistical techniques for
data analysis
(B) Hypothesis making (II) Representativeness of the units chosen
(C) Drawing a research sample (III) Identifying the variables for setting up
a plausible relationship
(D) Hypothesis testing (IV) Carefully chosen terms and concepts
with operational descriptions, if need
be.
Choose the correct answer from the options given below :
1) A-O. B)-d3D. (C)-(1I). (D)-TV)
2)  A)-AD, B)-), (C)-(IV), (D)-AII)
3  A-dID. B)-AV). (O-D. (D)-1I)
(4) (A)-(IV), (B)-(11), (C)-(ID). (D)-D)
Feft-1 % @y gA-I1 = faam Hifsm
g1 g-1I
Tt % = e e

(A) ST T9EAT 1 ORI
(B) witwew d9) T

(C) =iy ufdast o

(D) ufredar ghiEm

I fow 7o foewt § @ W1 SR F 99 Fim

(1)
(2)
(3)
(4)

(&)-(D), (B)-dD, (C)-(IIT), (D)-AV)
(A)-aD), B)-(), (C)-(IV), (D)-(I1I)
(A)-(IL), (B)-(IV). (O)-(D), MHID)
(A)-AV). (B)-(LID). (O)-(ID), D)-T)

@ g favawe &g AgfT WEThE T
AD ==t ghet Fi et g
(Il 3feg® wey =fha A 3 90 H TmaE

HET

(IV) ATagaehal 98+ ¢, i faeton afgd

aiicaTies ggl i Aagrns w0
YEITge M|

[Question ID = 4129][Question Description = Q13_GP_21NOV_S51_SHAAN]

bl D —

?)

. 1 [Option ID = 15979]

2 [Option ID = 15980]
3 [Option ID = 15981]
4 [Option ID = 15%82]

Given below are two statements :
Statement 1 :

findings.
Statement I1 :

and use of resources.

Research ethics forms a genuine concern for research to lend credibihity in

Use of ICT 1n research is mandatory as it 1s economical in terms of time

In the light of the above statements, Choose the most appropriate answer from the options

prepp
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given below :

(1) Both Statement I and Statement II are correct.

() Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement 11 1s incorrect.
4) Statement I is incorrect but Statement II is correct.
fo  Fum fer o 2,
%97 (D) 7Y SeR-urE Tewdl d fagemdtea wH % e oy g o 9udwes st g
F1 2
ECINE My | g @ & 1 = HHEE 2 dwite 98 @9 3 g9l 5 YA o g2 o
firaeadt 21

SUllh HYE % Ne A, e 5T o Repedi § o ge8 3R SO % 994 it

(1) = (D) 3l 1D 1w &
(2) =y () FH dD 24 TeE B
3  ®W () FE 2, wifrd =ua (1) T 2

@ =Y (D) TR 2, SfE w9 (D) T 2

[Question ID = 4130][Question Description = Q14_GP_21NOV_51_SHAAN]

1

1. 1 [Option ID = 15983]
2. 2 [Option ID = 15984]
3.

4. 4 [Option ID = 15986]

3 [Option ID = 15985]

0 : F > .
) (Gaven below are two statements : One 18 labeled as Assertion A and the other is labeled as
Reason R.

Assertion (A):  Format and styles of referencing in thesis writing are enforced with a view
to effect observance of formal protocols.
Reasons (R) : Formal protocols ensure avoidance of deviations from norms and

procedures of reporting research.

In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A).
(3} (A) 1s correct but (R) 18 not correct.

(4) (A) 18 not correct but (E) 1s correct.

= 2t o v v # :@ﬁ%ﬂ?{ﬂseertianﬁ}%mﬁ%ﬁﬁﬁ%aﬁagﬂmm (Reason R) %
wqH

sifaeRom (A) ; MY-THY AEH H WWA B TET 3R Al w1 wEE SR G 1 s
gifTaa e % yasa g fEen e 2

F (R) : HAraTiEr Wkl laafed Y & Argel ot uiEert & faerar ®t T gRvEd

FEAT 2 2
SULTH FYEI % I A, Y e e fawedt § ¥ gew Iugw SR % wIe il

(1)  (A) 3R (R) I Ggi 2 AR R, (A) H T = 3
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@) (A) AR (R) TF FE E, T R), (A) Fr T s =5 g
(3) (A ud e, dfe ®R)@dt T @
@ (AT TR, df Ry TE 2

[Question ID = 4131][Question Description = Q15_GP_21NOV_S51_SHAAN]
. 1 [Option ID = 15987]
2 [Option ID = 15988]
3 [Option ID = 15989]
4 [Option 1D = 15%%90]

bl D —

1 The least contributor to noise in communication system by the audience 1s

(1) Selective attention (2) Selective perception

(3) Selective retention (4) Selective mtention

TEYTOT TS T ATaT o - § Tes %Y wEAn 2 -

(1)  =FRHF S (2)  TETOTH IEEIE

(3)  =IATCHF AFFYRI (4) FFATEHE T
[Question ID = 4132][Question Description = Q16_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15%991]

2. 2 [Option ID = 15992]

3. 3 [Option ID = 15993]
4. 4 [Option ID = 15994]

12) Which of the following are parameters of an effective communication?

(A) Freedom to see and hear. What is here?
(B) Freedom to say. What one thinks and feels?

(C)  Freedom to decide. What should be. was, are, will be?
(D) Freedom to feel. What one feels?

(E) Freedom of always wailting for permission.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(9 (C). (D) and (E) only

Frcafisfiga & & 9 & Th-t o W % v ¥7
(A) TE R - qE @A AR g o e

(B) =% T WA A TEGY T 27~ A5 T

(C) @1 g1 =gy, o §371, 91 o &I &, ¥ & ¢~ Az vl & i @
(D) H AR A BT - A TEGW A A T

(E) =AW 3igAfd % 309 @ FoAan

2 fau o fmedt § @ TRt SR R 999 it

(1) A (A), (B) 3R (D)
(2)  =FaE (A), (B) 3 (C)
(3) e (B). (C) 31t (D)

(4)  Faad (C). (D) 3T (E)
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[Question ID = 4133][Question Description = Q17_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15995]
2. 2 [Option ID = 15996]
3. 3 [Option ID = 15997]
4. 4 [Option ID = 15998]

13)  Given below are two statements : One is lIabeled as Assertion A and the other is labeled as
Reason R.
Statement I : Communication is the process of transmitting a message from a source to
an audience via a channel.
Statement 11 ; To establish ‘Commonness’ between the source and the audience is

effective for success of communication,

In the light of the above statements. Choose the correct answer from the options given

below ;

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement I are false.
(3) Statement I 1s true but Statement II is false.

(4) Statement I 1s false but Statement II 1s true.

A=t @ we e e 2w sl (Asserﬁonﬂ}%m'ﬁ%f@ﬁ%a}qyﬂw%w(ReasonR)%

E‘Iﬁ:

%9 1: FaFd oIfaw gl oo @@ w99 i o fafler (wewerwi) % o
e gl

w11 ; ara offt fefter wmm o1 o & oo weel 6w 9 9 = A a3

TR Tl B ATE H, A fou e fawest § ¥ ged SugTE ST W 99 IR

1) A I aik 11 2wl #
(@) = I s II €Al e &
(3  wu Iudt 2, s %y 11 vera @
4 = e 2 Qw11 wdl 2

[Question ID = 4134][Question Description = Q18_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15999]
2. 2 [Option ID = 16000]
3. 3 [Option ID = 16001]
4. 4 [Option ID = 16002]

14)  Match List I with List IT

List I List 11

Styles that impede communications Characteristic feature
(A) Placating (I)  Doing or sayving what 1s irrelevant.
{(B) Blaming (II) Being overcorrect.
(C) Computing (IIT) Fault finding and acting as superior.

(D) Distracting (IV) Talking in an ingratiating way
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Choose the correct answer from the options given below :

1 @A-D). (B)-AD). (O)-I1I), (D)-(IV)
2 A-AD. B)-D. (C)-AV), (D)-I1D)
3)  (A-A1D, B)-aAV). (C)-(D, D)-AI)
4)  (A-IV). B)-IID. (C)-(ID), (D)-(I)
gEht-1 % @ get-11 = frem A
g1 gefi-11
Aelt St wesiar 7 arees 2 fortuan
&) e (D) G ST Bl AR
(B) TR AD) wgar = wia wfq seqrdl g0
(C) s (II) TTafean gem 3T U =i g "R Fard
Hl
(D) “AR-¥=E (V) 3IFETIF ¥9 U Wg2 FH & WA ¥ "9@
Eag]|

fi9 fau mu frmeat 4 9 9 s w1 = Hifw

(L
2
3
()

(A)-@). (B)-AD). (O)-dID). (D)-(IV)
(A)-AD. B)-(). (C)-IV), (D)-dID)
(A)-IID. B)-IV). (C)-(D), (D)-AD)
(A4)-AV). (B)-(I1I), (C)-dD). (D)-(D

[Question ID = 4135][Question Description = Q19_GP_21NOV_51_SHAAN]
. 1 [Option ID = 16003]
. 2 [Dption ID = 16004]
. 3 [Option ID = 16005]
. 4 [Option ID = 16006]

1
2
3
4

13) Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (4) :

Reasons (R) :

In the light of the above statements, Choose the most appropriate answer from the options

homophilous.

meaning.

given below :

(1)
@)
(3)
4

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(A) is correct but (R) 1s not correct.

(A) 1s not correct but (R) 1s correct.

7 7t wom fag T ¥ © o AfiEuR (Assertion A) % w1 # fafag @ @ gvw 9% Fw (Reason R) %

S
®3H .

IRTFYT (A) S Gid T ATl U B 90 WA 8 af 9url g9ue gfed e 2

More effective communication accurs when source and recelver are

Source and receiver use same language and words to stimulate similar

prepp
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FRO (R) : U TI AT Ok GUH Y FIUG R Bg ©F 9 aG 1 W9 TF U9 1 THErT
Y 2

IWIH FA % sk 8, A9 &y e formeal § O He8 SUTE S @l 9Ed I

D) (A S (R) I TE E SRR, (A) F TR =

@ (&) R ®) 3w E, A R), (A) F T e 76 2
B (&)= 2, AT R) @l T 2

@) (A TE 3, dfe R) wE 2

[Question ID = 4136][Question Description = Q20_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16007]
2 [Option ID = 16008]
3 [Option ID = 16009]
4 [Option 1D = 16010]

bl B

16) A milkman has been mixing water with milk to earn 25 per cent profit by selling the mixture
at the cost price. The ratio of water and mlk, respectively, 1s?

(1) 4:5 (2) b:4
3 1:5 @ 1:4

TF - 38 TESE | gy § T« e @ 7 7 5w e-tie gu #3559 % e gea W s o

25 Tfaer 1 09 W F S 3R 59 W ST § -

1 4:5 (2)
3 1:5 4 1:4

o

[Question ID = 4137][Question Description = Q21_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16011]
2. 2 [Optien ID = 16012]
3. 3 [Option ID = 16013]
4. 4 [Option ID = 16014]

17} A 12 percent debt instrument fields 20 percent return. The market price of the underlving
debt instrument is

() Rs. 167 (2) Rs. 170
(3) Rs. 60 (4) Rs. 40

12 wferre arel Tk sRu-wum & 20 wiezd 1 @ (fes) T gian 31 3% H0 q9 0 SR 0 § -

(1) 167 w93 (2) 170 T

(3)  60¥FH (4) 4079
[Question ID = 4138][Question Description = Q22_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16015]
2. 2 [Option ID = 16016]

3. 3 [Option ID = 16017]
4. 4 [Option ID = 16018]

18) The difference between the simple interest received from two different sources on Rs, 1,500
for three vears 1s Rs. 13.50. The difference between their rates of interest is

(1) 0.1% (2) 0.2%

(3) 0.3% (4) 0.4%
1500 T =] U W G STTT-3Ter WAl O o 39 % fore WTH ARl S S 13,50 9 2| I
ST & I AW ¢ -

Pl I A NS Frant
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iy VL /D L) (WAL

(3  0.3% @) 0.4%

[Question ID = 4139][Question Description = Q23_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16019%]
2. 2 [Option ID = 16020

3. 3 [Option ID = 16021]
4. 4 [Option ID = 16022]

19) A watch reads 4.30. If the minute hand points East, in which direction will the hour hand
point?
(1)  North (9) North-West
(3) South-East (4) North-East

UF U 4.30 99 fom @ 2| afg Fee g i@ o w6 s w2 9 o g T e st
Eoyik

(1) 3™ (2) IE-ufTem
(3)  cféor-gd (4 v

[Question ID = 4140][Question Description = Q24_GP_21NOV_51_SHAAN]

1. 1 [Option ID = 16023]
2. 2 [Option ID = 16024]
3. 3 [Option ID = 16025]
4. 4 [Option ID = 16026]

20) In a certain code language, 24685 1s written as 33776. How 1s 35791 written in that code?
(1) 44826 (2) 44882

(3) 46682 (4) 44682
i HT UT T 24685 F 33776 formn a1 71 SW %2 ® 35791 i Fu wwR o smwm?

(1) 44826 (Z2) 44882
(3) 46682 (4) 44682

[Question ID = 4141][Question Description = Q25_GP_21NOV_S51_SHAAN]
1

. 1 [Option ID = 16027]

2. 2 [Option ID = 16028]
3. 3 [Option ID = 16029]
4, 4 [Option ID = 16030]

21)

which of the following fallacy?

(1) Viruddha (Contradicting reason)
(2) Nature of the opposable reason (Satpratipaksa)

(3) Unestablished reason (asiddha)

(4) Nature of unopposable reason (a Satpratipaksa)

=T % IFIHR, T - G WYad & iR 7 9 B &, § Frefaiaa § 9 FH W g 27
(1) Tosg (2) waufaus
(3 g (4 FAgqufoE

[Question ID = 4142][Question Description = Q26_GP_21NOV_S1_SHAAN]

PR e e

. 1 [Option ID = 16031]

2 [Option ID = 16032]
3 [Option ID = 16033]
4 [Option ID = 16034]

22) \With reference to pramana theory both on dialogical and philosophical discourse. which of

According to Nyaya the argument — ‘Sound is eternal because it is produced’ commits.

prepp
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the following options are correct?

(A) It furnishes the required grounding for the thesis to be backed up by a certain means
of knowledge.

(B) It provides the necessary platform to incisely analyse the proposed thesis.

(C) It enables us to succinitly summarise the observations, that stem out of analysis, in

the form of anumana or nyava pravoga.

(D) It enables the debater to elicit acceptance of his’her own belief system on the basis of
formal validity alone.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A), (B) and (C) only
(49 (A). (B) and (D) only

Hanfem o it gt 2t & wefug wmr frgm = wed A Fafafea 4 o w0 e aft 27
(A) = furon 2y SRR SnER Yo W @ R wivm 3 % o @ sl B R
(B) == TTaa SIfYRon 1 MRUR © faveivw G g SEvEs o9 UgH Rl 2

(C) =7 faveam & T8 STEeis i FTAA AYAT A THIT B TY ° AEiHa B G gusl s 2

(D) oIz wizoal #1 IRl SU=IiE duar = MR W I Tad i favaw yonelt w wwd wW o

was =95 2

Hi=r fau 0 el A @ o) s9t w1 =21 Fifsw

(1) =t (A) 31 (B)

(2)  Fd (A) 2 (C)

(3) Faw (4), (B) 3 (C)

(4)  FaE (A). B) R (D)
[Question ID = 4143][Question Description = Q27_GP_21NOV_S1_SHAAN]
1 [Option ID = 16035]
. 2 [Option ID = 16036]

3 [Option ID = 16037]
4 [Option 1D = 16038]

bl D

%) Given below are two statements :

Statement I : The works in Nyaya-Sastra discuss the aggregate causal conditions and

the process involved in inferential cognition.

Statement 11 : The works in Nyﬁya-é’ﬁ'stra do not however dwell upon analysis of the

factors that help to assess and decide the formal validity of a judgement.

In the hight of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement I 1s incorrect.
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(4) statement I 13 incorrect but Statement 11 1s correct.

H= 2 =y few m 2

% (D) : T $ 09 HFHT RUSR FaiE aw gaeea 3 At abem ==t
X Bl

g (1D : - % 7Y a3 we & favemy w R T e £ o1 folm B oo
Ao 1 e FE IR Folg w9 § wEEa = 2

IYH HI & A °, A B e faweni § o v suas I T fife

(1) e D) R 1D 3 w2

(2) WA (1) I (I0) gHT T #

(@) = () w2, Ate wua (1) e 2
(4) T3 (D) T &, Afe we D w5 3

[Question ID = 4144][Question Description = Q28_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 1603%]
2. 2 [Option ID = 16040]
3. 3 [Option ID = 16041]
4. 4 [Option ID = 16042]

24) “Famous Singer Himanshu says that Coffechill chocolates are groovy. We can only conclude
that Coffeehill chacolates are groovy indeed”.

Which of the fallacy 1s commited in the above statement?

(1) Hasty Generalisation (2) Appeal to unqualified authority
(3 Shippery slope (4) Missing the point
“uflrg T TRy wad § TR iR i oioils gid 21 29 T a1 fHod Fere umd & e b
wihie aead | el 2 21
3ugeh #yA ° fefafga 8 @ w9-o1 g afza gan 27
(1)  Iedtemsi ¥ ame=o () TR-famms migerdl (=afE) 5 qfa s
(3 feaudi (4) TrEEg T FHAD

[Question ID = 4145][Question Description = Q29_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16043]
2. 2 [Option ID = 16044]
3. 3 [Option ID = 16045]
4. 4 [Option ID = 16046]

25) The set of attributes shared by all and only those objects to which a general term refers, is
called :

(A) The intension of that term
(B)  Connotation of that term

(C)  The extension of that term
(D)  Denotation of that term

Choose the correct answer from the options given below :

(1} (A) and (B) only
(2)  (C)and (D) only
(3) (A) and (C) only
(4) (A) and (D) only

U A B A= S A g 3 Al aege d srEftud v R u @ ug g SR e e 2,
FEER & -
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(A)
(B)
(C)
(D)
+=
(1
(2)
(3)
(4)

39 92 %1 Afhna
39 92 Hi "t
30 W fomr
3@ U2 =i araadwal

fou 71 oot ® @ G T = w=A iy ;

A (A) H (B)
T (C) 3R (D)
FAA (A) 3R (C)
FS (A) 3R (D)

[Question ID = 4146][Question Description = Q30_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16047]
2. 2 [Option ID = 16048]
3, 3 [Option ID = 16049]
4, 4 [Option ID = 16050]

26)  with regard to computer memory, which of the following statements are TRUE?

(A) Secondary storage 1s slower, cheaper. and less volatile than primary storage.
(B) Tape drives are direct access devices.
(C)  The contents of most forms of RAM are volatile, thus making them unsuitable for long

term data storage.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (A). (B) and (C)

Hrged Aat % gey ¥ fefafga § @ -9 w0 T 27

(A)  Teosh wits weadl weis h gem § dimn, e a0 e AR g 2

(B) 4 gwaE #teft vgm At v (feame) 2

(©) T RAM) % Tl &9 % hoe AR (Aeiersd) Bd 8 W THR A 3% qady ST ©RA
T 319 T B

ﬁﬁqwﬁwﬁﬁﬁ@ww%:

(1)  as (A) R (B)

(2) 99 (B) 3R (C)

3  FE (@A) IR (C)

@ (4. ®) IR (©C)

[Question ID = 4147][Question Description = Q31_GP_21NOV_S1_SHAAN]

o =

. 1 [Option ID = 16051]
2 [Option ID = 16052]
. 3 [Option ID = 16053]
. 4 [Option ID = 16054]

prepp
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27)  wWith respect to computers, what is the main advantage of a Graphical User Interface (GUI)
compared with a Command Line Intexface (CLI)?

[Question ID = 4148][Question Description = Q32_GP_21NOV_S51_SHAAN]
1. 1 [Optien ID = 16055]
2. 2 [Optien ID = 16056]
3.

4. 4 [Option ID = 16058]

FEURL = Hed W, TiE g ehd (Wi e ang) hi ga # Wihed IR R (S g oE) W o

(1)
(2)
(3)
(4)

Provides higher level of security and requires lesg memory

Easier to use for non-experts

Performs complex tasks faster and requires less memory

Requires less processing power

T FE Y

(L)
(2)
(3)
(4)

= Wt bl graT geAr hadn 2 3 3@ 59 uilt fY Sea widt 8
R-Fio & T 2 oTEE 2
Sifeet =l @t dot Tid 8 el 2 SR 38 B9 Al s gt 8

T T WMEEE I i 9% Bt 2

3 [Option ID = 16057]

28)

[Question ID = 4149][Question Description = Q33_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16059]
2. 2 [Optien ID = 16060]
L1k

4. 4 [Option ID = 16062]

29) @Given below are two statements :

Freaforfas Froget wite amaetl i aed 0 U T ik amar % o #9 1 veee ik

(&)
(B)
(C)
)
(E)

(1)
)
(3)
(4)

Identify the correct order of the following computer storage capacities ranked from smallest

to largest capacity.

(&)
(B)
©)
D)
(E)

Choose the correct answer from the options given below :

1)
@
3
@

100 GBytes

10 000 000 000 Bytes

1 TBytes

100 0600 MBytes

1 000 000 KBytes

D), (B). (B), &), (O)
(E). (B), (D), &), (C)
(B). (B), (D). (&), (O)
E). (B). (D). (). &)

100 Frm &g

10 000 000 000 &S

1 30 e

100 000 FT AR

1 000 000 f&reTt w2
e fou o el § 9wt se w1 = Hildw

3 [Option ID = 16061]

Statement I :

Statement 11 :

-1 -

(D). B). (E). (A). (C)
(E). (B). (D), (4). (C)
(B). (B). D). (4). (C)
(E). (B). D). (©). &)

PRGSO, B o AT

gy SR

A web browser 1s a piece of software that retrieves and displays web pages.

A search engine is a special kind of website that helps people 1n finding

I LI ) RURRS,

prepp
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below :
(L) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 18 true but Statement II 1s false.
(4) Statement I 1s false but Statement I1 1s true.
I T o e e B
=y () : a9 SISAL U WIS & S o Ul bl &R Tl il ¢ 31 9gRid =t 2
= (D) : U9 so U T999 gR i dedige € S A Sl 3 99 gigel 4 99 US Wg i o

In the light of the above statements, Choose the correct answer from the options given

¥ o LF ynaun LL WAL WFWLATAL FY AT DAV

Hag il 2

Ik R % ofTers °, J19 28 v fwmedt § @ w8 s = fifw

Y
&)
3

(4)

oA (1) SR (D) 1 eF &
A (1) 3 (1) ST 56T &
o (1) aed 2, At o (1) 1eq 2

FUT (1) 310 2, S w97 1) 7 2

[Question ID = 4150][Question Description = Q34_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16063]
2. 2 [Option ID = 16064]
3. 3 [Option ID = 16065]
4. 4 [Option ID = 16066]

30) Match List I with List II

List T List 1T
(Computer Components) (Description)
(A) HDD () Visual Dasplay Unit
(B) RAM (II} Volatile Memory
(C) ROM (III) External Memory
(D) CRT (IV) Non-Writable Memory

Choose the correct answer from the options given below :

(L
(2)
(3)
(4)

(A)-AD. (B)-ALD). (O)-1V). (D)-A)
(A)-(1D, B)-aD. (O)-D). (D)-AV)
(A)-(IV), (B)-(LD). (C)-I), (D)-(D)
(A)-(ID), (B)-II), (C)-AV), (D)-()

gft-1 % = gh-11 = faem Fifsm

&)

-1 =11
AL TIE oo
HDD O Frger feoa qfre

prepp
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(B} HAM (L) ST HH

(C) ROM (IIT) =Te= HEH

(D) CRT (IV) AF-Usesier 34
fra fon o forewl § ® 991 ST F o9 Fi

(1)  @)-dDh, B)-dID), (C)-AV). M)-d)
2)  @-AID. B)-AD. (O-D. D)-(IV)
3 Q-IV). (B)-(1D), (C)-AD), (D)-)
@4  A)-aI). @-dn. (6-av), (-0

[Question ID = 4151][Question Description = Q35_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16067]
2. 2 [Optien ID = 16068]
3. 3 [Option ID = 16069]
4. 4 [Option ID = 16070]

) How many missions are there under the Climate Action Plan of Govt, of India?

(1) 4 (2 8

3 12 4 17
A TR <t Seqary wr Aol & siatd e e 27

(1) 4 (2 8
(3) 12 4 17

[Question ID = 4152][Question Description = Q36_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16071]
2 [Option ID = 16072]
3 [Option ID = 16073]
4 [Option ID = 16074]

bl D

32) According to India Meterological Department, average sustained wind speed over 3 minutes

of a cyclonic storm., 1s in the range

(1) 40 — B0 km/hy
(2) 50 — 60 km/hr
(3) 63 — 88 km/hy

{4) 200 - 225 km/hr
TRd el fawm & R, ol =ward g 4 3 fiFe 7% oied fir gam i h IS 2t 2 -

(1) 40— 50 f& 4, f=.
(2) 50— 60 fwH. /3.
(3) 63 -—88 %4 /a.
(4) 200 — 22554, /4,

[Question ID = 4153][Question Description = Q37_GP_21NOV_S1_SHAAN]
| 1. 1 [Option ID = 16075]
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| 2. 2 [Option ID = 16076]
3. 3 [Option ID = 16077]
4. 4 [Option ID = 16078]

33) Given below are two statements :

Statement I : Wind farms are generally set up on exposed hilltops or coasts in remote
areas.
Statement II:  Wind velocities are steady in these remote locations.

In the light of the above statements, Choose the most appropriate answer from the options

g1ven below :
(1) Both Statement I and Statement II are correct,
(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.
Frel g o feg T §
T () TS FIE WE: GR A ¥ UESA 5 ge Y e sver g 9d m wnfia fhe
W B
9 (1) : T GO TIH W 99 T Faq 2 2

I YA % IS H, F19 3w e el o O Fag 3ugw ST B 994 AT

(D
2
3
(4)

o (1) 31 (IT) 3 W&t 3
o (1) 31T (II) et e B
o (1) 921 2, SAfkT =ed (ID) Tod 2

o (1) Ted &, SfE w99 (1D TE) &

[Question ID = 4154][Question Description = Q38_GP_21NOV_51_SHAAN]
1. 1 [Optien ID = 16079]
2. 2 [Optien ID = 16080]
3. 3 [Option ID = 16081]
4. 4 [Option ID = 16082]

34) Given below are two statements : One is labelled as Assertion A and the other is labeled as

Reason R.

Assertion (A):  Production of electricity from Renewable Energy sources 1s without
adverse environmental impacts.

Reason (R) : There 13 no net emission of carbon di-oxide into atmosphere from

exploitation of Renewable sources of energy.

In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1)
(2)
3
(4

-

Both (A) and (R) are true and (R) 1s the correct explanation of (A).
Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(A) 1s true but (R) is false.

(A) 1s false but (R) 1s true.
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A

sty (A) Feftentofiz St wial @ fga saned @ § sus wieor w afegd ga T8 usar 21

HW (R) : TRl ot At & dleT ¥ TEESH A e SRS A HE Tg () Ieus
TE B 2

YU YA 6 e H, 19 fFe e fereat ¥ O gl U ST w9 i

1) (A) R (R) 2T T E AR (R), (A) R wd svem 2

@ (AR ®) I T E, qE R), Q) FH v e TR
3 WuER, d4FF ®) WS 7

@ (A) 3T 2, e R) 79 R

[Question ID = 4155][Question Description = Q39_GP_21NOV_S1_SHAAN]

1
2
3
4

. 1 [Option ID = 16083]
. 2 [Option ID = 16084)
. 3 [Option ID = 16085)
. 4 [Option ID = 16086]

35) ‘Wheezing' is the most relevant Health Effect in case of the air pollutant

(1) Ozone (2) Carbon monoxide
(3) Nitrogen dioxide (4) Sulphur dioxide
o a1y Wk % W A AR weiften ga e et e @ -
1) e (@) FEA TSRS
(3) AR SHOTHEES () FET TRAFAES

[Question ID = 4156][Question Description = Q40_GP_21NOV_S1_SHAAN]

PR e

. 1 [Option ID = 16087
2 [Option ID = 16088]
. 3 [Option ID = 16089]
. 4 [Option ID = 16090]

36) Which of the following are essential for good governance of colleges and universities?

(A) Academic autonomy
(B) Legal autonomy
(C)  Fmnancial autonomy

(D)  Administrative autonomy

Choose the correct answer from the options given below :

(1) (A). (C), (D) only
(2) Q). B).(C)only
(3 (B (O, (D) only
(4  (B). (C)only

wEifaaTeEl TR fyafamremt % 3w s 2g ety § @ ®=-° smaras 27

(A) TS Wl
(B) S =aea
(C) T wrman
(D)  TEEE WEal

I fou 7o el § © TE ST T 99 i

(1)  HFAA), (C). (D)
(2)  FHaa (A). (B (C)
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(3) @A (B), (0). (D)
4 =@ (B), (O

[Question ID = 4157][Question Description = Q41_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 160%1]
2. 2 [Option ID = 16092]
3. 3 [Option ID = 16093]
4, 4 [Option ID = 16094)

37)  On which of the following date National Education Day is celebrated each year?

(1) 28 Feb 2) 5 June
(3) 11 Nov (4) 1Dec

T e fRam e o Freffae @ @ fea [ty = v s 27

ey 28 FE 2 59

{3) 11 95581 (4) 1 fogmr

[Question ID = 4158][Question Description = Q42_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16095]
2 [Option ID = 16096]
3 [Option ID = 16097]
. 4 [Opticn ID = 16098]

oW =

38) Match List I with List II. Match the features of education of various types.

ListI List IT

(A) Ancient Vedic Education () Equality was the foundation of
student-teacher relationship

(B) Post Vedic Education (I))  Enrichment of Lknowledge and
experience

(C) Brahmanic Education (III) Knowledge results in wiping out
falsehood

(D) Buddist system of Education (IV) Emphasis on character building and
self realisation

Choose the correct answer from the options given below :

1 A-O. B-AV), (O-dID, )-AD
@ @-aV), B)-0, (O)-AD. (D)-AID
3  A-dAIh. B)-AD. (C)-@), (D)-IV)
@  (A-AD. B)-ID. (O)-AV). D)-()

geit-1 % @ gEf-11 = frem ifse) faftm e =6 fram ok st famanett =1 fiem fifsrg)

-1 g1
(A) T afes e () TEF oo JeY 1 SR o
(B) =R dfes e D) T it sEua B /UG T
(C) waftvr fra (I1I1) =reafas s fieare = famo
(D) g fan gt av) wia fmm o omm-fafg = =w fam
T o1
+Arer fa e faered] d W TEl S B wE HIT

1 @&-1). B-AV), (C)-a1I), (D)-(1D
2 A-aAv), B-D), (C)-dD), O)-dID
3  A-AID). B)-AD, (O)-D). (D)-IV)
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(£) LA)-111). (B)-(1L1), (L}-11V], (U)-(1)

[Question ID = 4159][Question Description = Q43_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16099]
2. 2 [Optien ID = 16100]
3. 3 [Option ID = 16101]
4. 4 [Option ID = 16102]

39)  “Destiny of India is being shaped in her classrooms”, this is stated in

(1) University Education Commission (1948)
(2) Education Commission (1964)
(3) National Education Policy (1986)

(4) National Knowledge Commission (2005)

TR R 9WE SEh A T [Hita 2w 2 9 wye Fetaiae § ° e e my ar?

(1)  Frratammem fa smEm (1948)
(2) e s (1964)
(3 oA g Hifa (1986)

(9 T I s (2005)

[Question ID = 4160][Question Description = Q44 _GP_21NOV_S51_SHAAN]
. 1 [Option ID = 16103]
2 [Option ID = 16104]
. 3 [Option ID = 16105]
4 [Option ID = 16106]

e it R

40) The new curricular and pedagogical structure of School Education as proposed by

NEP-2020 is

(1) 10 o B L (2) Hh+3+3+4

3) 2+5+3+4 4 2+5+3+2

wA § d1~2020 gRT =791 TRt et Rrea 6 T wiegsma IR Defires e 2 -

(1) 5+3+2+2 (2) H5+3+3+4
(3) 2+5+3+4 4 2+5+3+2

[Question ID = 4161][Question Description = Q45_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16107]
2. 2 [Option ID = 16108]
3. 3 [Option ID = 16109]
4. 4 [Option ID = 16110]

Topic:- GP_%et3_C
1) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applhied behaviour

analysis approaches to classroom management shared the spotlight about eguality during
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this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to 1nappropriate behaviour,
consistency of teacher responses, monitoring., and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
TN ] AEOHYEE T ot 30 a2 fau v we % s A -

20 i TAwE % TOUGH W BT A B U&7 5 39 o W g o 5 e gemen % afd S
wfafear & o) 38 el % R Fen v & weadEnE) R it =reEr fvern 3ol § wEarn
H YR W SR & ) A TF oI muteE B 4, e YEeA Rl TeneE wonell 29 % a9
wfafFamEr yonfer #1 7w B 3 sonfori golaRr A ve oia B % Uee 94 SioF SuH Wi uWaH
Hodl O T T FA| 3| TNn, Tegpd e HOg WY H e WeuR o fold Wh SR JURTH HeAT A
T 2 S W SEEUT AR SHEEA 1 Uy ufalEa % w9 1 1€ afew A § s § tm w21 93
ITH LN TEL T A W INARA B PR gEER A U tg RN figs 7 @l e 2 iR
srtarFe w1 vt frer e wm oA 21 To v % R T ¥ orened ok 3RH ol o fe-
I A1 SRR % et &1 sreerRa iR freteor e 6w mite e e gw e g Reed
oz o1 T arfers et o gereeRl o7 vl wen el % e 97 3w s ot fRar o @war 2 T
4 gElgeR Ui TR R ke gEEeR R U % T W 39 A 4 U AeEE W 27 T
Trerenl =Rl Ueh @ % SISO 2 1 FEE T e i O o S vels e % an § o
wfafea, fesl % yeget A wagar, P, ot qewr gorelt wifive of | sk stemen, 15 figg % sl
T R § A i e § wrtea, faenide o gwen fi o ) v o 7% am oen on o9k TR PR
T o R 3 fierr 5 sremer waf ® oA i) ad S5 v g o it 1E e S Ty o s
% 3 W et w2 vt ° i Bem e st wenh veew o s wuEl W 9 % T
s |, o frenl i afees Wt e waraer % T o dofia B o s wanen F why arfies Rt
FVIT U T iR FrH FH wEe § o faa fEnefl g8 T smenga st gl wea 3 vRa-ad 5
oM 3 WO B ST = anft fees % = A wenita fEm

An effective teacher manager as per classroom management tradition

(1
(2
3)

AN

Advocates adherence to rules
Focusses on changing or modifying inappropriate behavior

Incorporates interventions that stress communication skills

| EEPOSE R S EEE L TR g Sl e e ———T o - e S R D it pmopmenoneRlusmesy e Aliiozion —ee - A & SURRRT Bhotca AL, (RS
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engaged
HA] TG T & FHR, THE Sreed veraes

(1) e 9t sH wA B e W g
(2) T SgTER H SEer YA U i B W a9 2497 3
(3) 37 TEaRdl w wifhe W & S SR Hmive 9t AT 55 8
(4)  Taenfi=t =i ol w9 e yeq-we ¥ Teurll s 2 e e, oiomi ot w2 = e
T B
L]
[Question ID = 4167][Question Description = Q46_GP_21NOV_51_SHAAN]
1. 1 [Option ID = 16131]
2, 2 [Option ID = 16132)]

3. 3 [Option ID = 16133]
4. 4 [Option ID = 16134]

Z) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primayily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to Inappropriate behaviour,
consistency of teacher responses, monitoring. and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in fwo groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective mmanagers established themselves

as instructional leaders during first 3 weeks of the school year,
T B AT U st 3w AR e % I A

20 i TATE % SUUSH W BT SETTAA R 07 5 39 W W g o T G o gemer % afa 3
it & o 3o sl 3 o wen yeue | AeaaEd) o wEifer SR faveraer surml | e
H IEYTOT W AR @ T Y I WY, wUlEE B9 O, FA yEdE Rl ares el 39 % s
wfafrrmad yonfeen 21 72 % 3 wonfer godeer i vz 9Ra 27 % we T4 wiow U Wg WEH
1 W R AW Al §| Siien, eme g H 30 9§ e Waud o fold Uk 3= JURTH H2AT SBUAl
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T 2 S e SasuT R SEEnEA 1 uvE ufafEa % v 1 9d afew A § s f Sm w21 93
I FE TEL T A W INARA B PR gHEER H U tg WED figs 7 @l e 2 iR
arignga =0 gawt figes T wlmw A €1 S0 WY ok war T ¥ e o dRE o i -
I 3T TR % TSt @1 sraere At et s = e e e e gw s g Ferd
oz o1 T arfers ot = gereRt ot wawl war waweH % e 97 3w smuar ot A o wwar 2
3 ZElaER % Wig Wi wE ok T TR R % AT T 3w #) U e ¥ 27 TEe
Trerent =hl Ueh o % AR - WA 2 Sl FEE T U i O % A vels e % e § o
W < ST et il 78 T hemeher-saaw, e fom, godasn & ufonm, agfte saasr + wid
afafemn, s % geger A wagar, Frodt, o g goret e of| sk steman, 15 e % sl
T e B wEEE i e | wrdtana, frnitat ) gwen &t o i 2 | T um o s o s e
& o et 3 fierr 5 sremer waf ® oA T ad = Sw g o i 15T e S Ty o s
% IR W et w2 wgt ° g Bem e st wanh veew o el e 9 % T
s |, B frenl i sifees ool ey % T d dofiga e ar s wanen F why arfies Rt
w7 3R Frh FW wen § e fra fenefl 32w smerra st avrel e 3 wpa-ad %
oM 3 W B S = aneft e % = A wenita fEem

A teacher who emphasises the immediate reinforcement of positive behavior and punishment

together is said to follow

(1) Classroom management tradition (2) Collaborative learning

(3) Applied Regearch Tradition (4) Humanist tradition

e S TpIIeTs AEER SR 38 IRl I U W wiw @r) W W §e a1 8, W Wl § e 9w et

@ -
(1) =& Jaeq TR (2) "EATeHE AR
(3)  IYIE ATEUN TR (4) AFTGER TR

[Question ID = 4168][Question Description = Q47_GP_21NOV_S51_SHAAN]
1. 1 [Option ID = 16135]
2. 2 [Option ID = 16136]
3. 3 [Option ID = 16137]
4, 4 [Option ID = 16138]

3) Readthe passage carefully and answer the questions that follow

Through out much of the latter half of 20t Century. classroom diseipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and apphed behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primayily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,

~
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CIMSSIUUL  FUIES, GULSEYUENGES UL UUSUSLAVIOD, IESpULSE W IUAPPropriate  Uelaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as morve effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
T I AEAEHE Ui oft IwE s fim e weet % I A

20 i TAwE % TOUGH ® BT FITAA O 087 5@ §9 o W g o B G o geer % iy S
whifsar & s 30 sl $ o wen v | weaaEd) o wEife SR fveran surl & auEE
H YA W AR & ) ¥ TR oo wuleE B 4, e YEed Rl TeneE womell 29 % s
wfafermad yonfean €1 72 % 3 yonfor gofeen i 9z oRa g7 % we 94 wiow o Wig wWaH
oA U T T FAN 3| TNn, e e HOg WY | e Weus o fold Wh SR JURTH YoA1 AT
T 2 S e EEuT AR SFEnEA #1 uvE ufalEw % v 7 98 afew e § s f Sm w21 93
I AN TEL T A W N B R gHEEn # U g RN figs 7 @l o 2 edR
srtae #=A vt foe e wm oA 21 To v % R T ¥ orened k 3RH ol o -
I 3T PR % TSt @1 sraerE A freaer s = e it e e gw s g Ferd
a7 o1 Afers wavdl = garwehl i e wwEt s yawe o i bYW smar 9T frar o awar 2 e
3 Zolaer % wid TR F9 % T TR ) U % R T 3 w1 3 O avee ¥ 27 T
frerenl =1 U A AR - FS & Wl R TP Yo i i S el e % oean ¥ 3
TR o AT el il 78 T hemeher-saew, el fm, goiaen & ufonm, sfta saasr + uid
afafem, fis % v A wada, P, ot gwewr goreh e of| sk stemEn, 15 i % s
T Rl W FERA 3R e ¥ wEea, it - g o woen f 7 fSma 35 o soen on o B PR
& o et 3 fierr 5 sreme wA ® erm T ad S 3w g o i 1T sverE S Ty o s
% Imam  foerRt W 2 wgt o dofiga PR e sl ol weew s syl s o F v
s o, o frenl 1 sifess ool e waaE % T d dofiga e o s wanen F why arfies Rt
HAW U T SR FHTH FH e ® we o el 3@ T smenga aifts meelt e @ wrm-ad w
oM 3 ETEl o ST 61 anft e % = o wonfia fEm

According to classroom management theory on effective teacher

(1)
2
(3
@

Addresses 1ssues in the clagsroom
Prevents the problem before occuring
Discusses the problem after 1t has occured

Tries to respond to the problem after its occurence

T TSy g & AR, T y9mEl e

(1)  *5em 3 4221 1 U e B

(2) v gfdd 2 @ ued 3 Uehar 2

(3  TuEn % ufed 2 9 % 9vEE S39 WSl .l 3

(4)  TEEM % Tied 2 S % UTE S5F TeH 1 UATE Wl §

[Question ID = 4169][Question Description = Q48_GP_21NOV_S1_SHAAN]

1. 1
)
| 3.3

[Option ID = 16139
[Option ID = 16140]
[Option ID = 16141]
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| 4. 4 [Option ID = 16142]

4) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applhied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to Inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective mmanagers established themselves

as instructional leaders during first 3 weeks of the school year,
T ] AEOHYEE 1 ot 30 e fan v wee % s A -

20 i TAwEl % SOUSH W BT FIIEA R qET 5 39 W W g o B e o geen % iy S
wfafsar & sl 38 sl $ S wen e AradErE) R RNt =reER favern syl § wwar
H IEYTOT W AR @ T ¥ I WY, wUtEE B O, Fa yEed Rl A el 59 % S5
wfafrmadl yonfear 21 72 5 3 yonfemi geteer i 9z ofia g9 % wew 99 sfow 9 W) wWMEH
oAl O T YA FAN 3| TNn, Tepd o WG WY | e WeuR o fold Uh SR JURTH Y1 AT
T 2 S W EEuT AR SEEEA #1 uvE ufalEw % w9 7 98 afew e § wv § tw w21 93
I Fel FEHE TW A W NUE B PR TR B OUFA 2@ ARl T w0 oalm AN R e
agrFe A e e o0 ol e 21w e % A s § aron % d eyt ot -
I AT TR % et &1 IraerR AR e e w6 e e T e gw we gy Reed
a7 o1 T arfers et = gereRl o gl wen sl % e 99 3w smar 9t A o wwar 2 T
3 ZEATR F i e #0 % 9 gEMeR U % o o s w #) ws aeen § 27 e
Toragenl =B1 Ueh A * SYECl - IS 2 9l R T S o WEie % AUE Yers e % en ¥ 3HE
W ] SAAHICT 3T i T8 T hameher-saew, et fom, godaen & ufomm, g saasr + uid
afafen, s % yegen A wagar, g, ot qwmr goreft wifve of| sk e, 15 i % sl
T el W FERE iR e ¥ e, fEmidat f g f o f 7 fSmw 95 @ s o a9 R PR
T o Rt 3 fierr 5 sreme wa0 ® oA T ad 5 3w g ° i 1ee e S Ty o s
% I w TRt W 2 wgt o dofiga PR e st ol weew s syl W o ¥ v
s |, o frenl i arfees Wt e waae % w8 dofiga B o s wanen | why arfien fordt

= [ =8 5 T ¥ 9
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oUW 3 Tl B ST R anft e % = 0 it fee

A teacher 1s effective manager 1f srhe

(1) Tries to respond to misconduct

(2) Tries to find the reason for misconduct
(3) Punishes the student(s) for misconduct
{4) Prevents the misconduct

=g o aurEll ueus ot S 2 a2 aw

(1) e & T TRIGRaT 1 ™ 3

()  golemm i BT AT WA B B e 2

(3  gFer % fore Rl (Frenfder) =+t afeq o 2

4  THFER Wi Uwal &

[Question ID = 4170][Question Description = Q49_GP_21NOV_S1_SHAAN]

1.1
2. 2
3.3
4, 4

3)

[Option ID = 16143]
[Option ID = 16144]
[Option ID = 16145]
[Option ID = 16146]

Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
issue of how best to respond to student mishehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about eguality during
this period. Both of these traditions are primayily reactive rather than preventive systems of
classroom management. That 1s they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach 1s based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent misbehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a year-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior, response to 1nappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the year. Those

teachers who were categorized as move effective classroom managers were found to have
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behavior during rest of the school year. The more effective managers established themselves

as instructional leaders during first 3 weeks of the school year,
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A teacher who focuses on feelings., psychological needs and emotions of the individual

learners is said to be following which tradition?

(L
(3)

Humanist Tradition (2) Appled Research Tradition

Classroom Management Tradition (4) Formal Discipline Tradition
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